
���������	� 
	������
����	� �����
�	� ���������� �����

���
�
�
 ������ 
����	
	 
��� �	������	� �������� ����

�� ������ ���	�
�


��	������ ����� 
����� �!��

���������	
� ���
������		��� ���
��������
�
� ������	�� 
 ����
��	����	�� �
������ �

����	
�� ����
�

������
�"�#

�� $%�$&���� '()�%* $+�,���

&������+� -�.�&%/0�+�0�+�(�$&�1 ��'&

��'(�2* �'&%!%��+�3 4

&������+ -�.�&%/0�+�0�+�(�$&�1 ��'&

�5 �5 6��,�*

����%7%3%!&�8 9:;9



�������	
�

� �������� �

	 
��
� ���������� �

��� �����	
�� �
����� � ���
����
� ���

�
�� ����� � � � � � � �

����� �����
���

�� ���
����� ������ ����� � � � � � � � � � �

����� �	� 
�� ���
����� ������ ����� � � � � � � � � � � � � � �!

����" #����$���

� 
��%
������ ������

� �&'� � � � � � � � �(

����) &	����� �	�
���	� � $����	
�� �
����� � ��	��
$
��*

��	
�� ���

�
�� ���� � � � � � � � � � � � � � � � � � � � � �)

��� +�	��
����
�� �,�
��$�����
� ��%$� ���
�����
 -����
 � � � �.

����� +�	��
����
�� ����$�

� � �����	
��
��� /012*�
�� � � � �(

����� '����	�
*�����	�

��3 �����	�
*��
�

�� �,�
��$�����
�3

��
�

� 	�,��	
���
 
 ,���
�� ���	�
�

�� � � � � � � � � "4

� ����
������������ ��������� ��

"�� '����	
��
���5
�� ����
���� � � � � � � � � � � � � � � � � � � � � ")

"�� 6 	�,-� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "7

"�" 8���$
�� 
,��	�

� � � � � � � � � � � � � � � � � � � � � � � � � � � ".

"�) '����	
��
���5
�� 	�,��5���� 
 � ��%$�

� � � � � � � � � � � � )�

"�)�� 9��
�
����5 ������ �
�����
-
��� �� ���

�
��� ����3

�����	� ,����
�

�3 ����  ����	�$�� � �
����� � � � � � � )"

"�)�� :
��
, �����	���	
�� ,��
�
������� � � � � � � � � � � � !"

� �������������� ���������� � �����
��
������ �������� !	

)�� 6 	�,-� 
 ����$
�� 
,��	�

� � � � � � � � � � � � � � � � � � � � 7�

)�� '����	
��
���5
�� 	�,��5���� 
 � ��%$�

� � � � � � � � � � � � 7)

)���� +������ ���

�
�� ����; ������ �	��
������ � � � � � � � 7)

)���� '
�	���
������ 	������-
� � ���,
�$
���	
�� ������

���,
�����
����
� �����	�
�� � �
,
 �	�� � � � � � � � � 7�

)���" '
�	���
������ 	������-
� ��%$� �	�����
 ��
����
� � .7

�



)���) <����� 
 �	��
�

� ���
���
 ����
������� 
 �����	�
*

��
�

��� �,�
��$�����
� � � � � � � � � � � � � � � � � � � ((

" #���$����� �%

! &���
'���� �(�

"



� �����	
�

#,���

� �	�����

� ��%�����	�

��� �,�
��$�����
� � 	�,�
�
�� $����	*


�� �
������ �������� ������5
�� 
� �	���%�


 ��� �%� 
�����5�
� $���*

�
���
�� =	�$
���5 ,���������� ��� � ��������

 ���	��
������� ��
��

�3

��� 
 � 	���
,�-

 �����	
��
�� 
,*,� 
�
$���5
���
 �
������ =��	��
������

��
��

� �
����� ��,��%
� �	
 ��� �� �,�
��$�����

 �����	�
��3 ���$� �
*


��
������ �
�	�
� �
���  ��5>� ����
������3 ���$� 
� ��
�>�

� ��������

����� ��	����	��3 �� ����	��� �	�
,��$
��� 	�,��%�

�� ?	
 �
�5
�� �,�*


��$�����

 ��%$� �����	�
��
 @����� ����
���
A ��	����� �	���	�
����
*


�� �$
�	�$
���53 
 �����	�
� � 	�,��� ��	
�$
������ ��	����	�3 
,����*


�� ��� �
�
�	����
� �	
������ 6 ����53 ��������������� �
�5
��� �,�
��*

$�����
�3 ����	�� ��� 
� �	
��$
� � �	
�����
,�-

3 �������� 
�
 ���� ���*

�� 
,���

�� 
 ���	��
����
3 
 �����	
��
���5
�� B ���� � ����
 ����$�

�

$����	
�� �
����� ��	�$������� �,�
��$�����
��� =��3 
��	
��	3 ��
����*

��3 ��� $	� 
�� ���
����� ������ ����� � �������
 �,�
��$�����
� ��%$�

�����	�
��
�

�
���	��-
� ��$�	%
� $�� 
����$������5��
� ����
; 
,���

� ������ �
*

�
������� ����
-
��� �
����� �����	�
�� � �����5� ��	��$

��
����
� 
,*

��	�

� � $	� 
�� ���
����� ������� ����� 
 
,���

� �
�	���
������ 	�*

�����-

 ��%$� ������
�	
��
 ���
�����
 -����
� B,�
��$�����
� ����*

�	�
�� 
,������� � $����	
�� �
����� 
� ��
��� ����	���	����	� C1DE� ?	


���� � ��	��� ����
 
,��	�

� �	���$���� � �
�����3 
���$������ � ��	*

��$

��
������ 	��
����

3 �� ���	�� ����
 
����$���

� �
�	���
������

	������-

 �	���$
��� � �
�5
� 
�	��
����
�� �
������

B ������ 	��
����
�� �
����� ����$�� ���

��������
 
,��	����� ��	*

��$

��
������ ����
���5 ������

� � 	�%
�� $	� 
��� ���
������ �������

�����3 �� ����	�� ��	�$������� ���
�

� ������3 
����������� �
�����
*

-
���� �
����� �	
 $	� 
�� �����	�� ,����
�

�3 ��� ��
�-
� ���

�
���

����3 �����	� ,����
�

� 
 �����	���	�� B ����
���
3 ���	��� �$����5 ���
*

������

� ��
���5 �
�5
�� �����	���	
�� ,��
�
����5 � ��$��
 �����,
�*


�� ��	�
�
��� :
��
, ���� �
�5
�� �����	���	
�� ,��
�
����
 �����

�

)



���,����� 
� ��,��%
���5 ����������

� � �
����� $	� 
�� ��, �%$�

��

'
�	���
������ 	������-
� 
,������� 
� 
�
���	����	�3 ����	�� �	�$*

�������� �� �� 
� �	 ,����	�� �� �
�	�

��� 	�,��	� 
� ����	�
���
 ����*

	���	����	�� 6 �$
�� $����	
�� ��, ��$ ,����	��
3 ��%
� �����
�5 $��

�����	
����
 
,��
	���

�� -��
3 ��%$�� 
, ����	�� ��$�	%
� �� �$
���

���
������ ��
������ &��
����� ��
����� ���%�� � �������� ��, �%$������


 $�����
	������ �����
���� B ����
���
3 
,���
� ��
�

� ���

�
��� ����3

��	��
$
����	
��� ��������
 � 	�,-�3 
� ��,

����
� � 	�,��5���� ��,$��*

���
� 
�	��
����
�� -��
 
� 	��
����
�� ���� =��%� ���	���  �� �	�$��%�


����$ 
,��	�

� �����	���	� 
��	���3 ��,

������� � 	�,��5���� ��	�$��


�
�	�

 ��%$� -����
3 
 �	���$�
 � 

%
�� ��	�$�� ���	

 ��,����

�

���	��
����
� 	����� �,�
��$�����
� ��%$� �����	�
��
 �	����� ��
����

� ��$��
 �  ����	�$���� F���� $����5
�� 
,���

� �	���� ��
��

�� ��>�

���	���� 
 �������� -��5� ���� $��5
��>�� 	� ����

���
 $�

�� 	� ��� �������
 � �����	
��
���5
�� 
,���


 �����	���	*


�� 
 ������� ,��
�
����
 ������ �
�
������� ����
-
��� � 	�%
�� $	� 
���

���
������ ������� �����3 � 
����$���


 ��
�

�  ����	�$�� 
� ���
�

�

������G � 
,���


 ��	�$��
 �
�	�

 ��%$� ������
�	
��
 ���5��

����


	�,��,�

��
 ���
�����
 -����
 
 ��
�

� ��	��
$
����	
��� � ��������


��	����	� ���

�
��� �����

��� 	���
,�-

 ��������

�� -����  ��
 	�>�
� ���$���
� ,�$��
;

• 
����$���
� �����	���	
�� ,��
�
����5 ������ �
�
������� ����
-
���

�
����� � 	�%
�� $	� 
��� ���
������ ������� �����3 �	���$�
 	�����

�����	���	
�� ,��
�
����
 ������ �
�����
-
��� �
����� � 	�%
��

�&'� � 	����� $����	��
���� ��$��
 �����,
�
�� ��	�
�
��G

• � 

,�������	���	
�� 	�%
�� 
����$���
� ,��
�
����5 ������ �� ���*



�
��� ���� $�� 	�,
�� �����	�� ,����
�

�3 	�,	� ���
 ����� �����

 ����	�$�� � �
�����G

• ����$�� �	�-
,
�

�� 
,��	�

� ������ ���� 
����$���
� �
�	���
��*

���� 	������-
� ��%$� ���5��

����
 	�,��,�

��
 ���
�����
 -���*

!



�
 � ����� 
 ���
����
� ���

�
�� �����G

• �	���$�
 	����� ��	�$������� ��%$� ���
�����
 -����
 ���
���
 �



%
�� ��	�$�� ���	

 ��,����

� $�� 	�,�
�
�� ����

,��� 	����*

�

��

+���
�� 
��
,
� ������

�� 	�,��5����� ,���������� � ���$������ B��	*

���  �� $���
�
�� 

,�������	���	
�� �	�$��3 � ����	�� ���
�

� ������

�
�����
-
��� 
� ,��
�
� �� �����	���	�3 
 � ���� �	�$��� 
����$���
� ,�*

�
�
����5 �� ���

�
��� ���� 
 �����	� ,����
�

�� B��	��� �	�$��%�


����� �����  ����	�$�� � �
����� 
 ����� ��������

��� ��
��

� �����*

	���	
�� ,��
�
����
 � ��$��
 �����,
�
�� ��	�
�
��� =��%� 
����$���
�

��
�

� ���

�
��� ���� 
� ������ �,�
��$�����
� ��%$� ������
�	
��


���5��

����
 	�,��,�

��
 ���
�����
 -����
 
 ����,�
� ��,��%
���5 ��*

	�$��
 �
�	�

 ��%$� �	��
������%
� 
��	����

��
 �	�����
 ��
����


� ��	
�� �	�-����� 	�����

��

+� ,��
�� ��
������ ���$���
� ����%�

�;

• � 

,�������	���	
�� �	�$��� ������
� �

��
�� ,��
�
����5 ������

�
�
������� ����
-
��� �� ���

�
��� ����3 ���$� ��� � ���	

 �	�$*

���,������� ��	
���� ,��
�
����5� 6 H��
�

� ����� ���%
� ��
�

�

$�


���	
�$
���  ����	�$�� � �
������ I���  ����	�$�� $��� �%
$��*

��� ��	
���� ,��
�
����5 � �	�$���  ��5>
� ������

• 8�$��5 �����,
�
�� ��	�
�
�� �	�$���,����� �
��� 	�,
�� ,��
�
*

����5 ���
$
���
�
��� �����	� $�� �
�
������� ����
-
��� ��� ��
�*

-
� �����	� ,����
�

� � 	��
��
 �������
 �	
 $	� 
�� �����	��

,����
�

� ν = 1/3 
 ν = 2/5� '����	
��
���5
�� 	�,��5���� ���,���*

�� 
� ��3 ��� 
����
� �	���� ������� ,��
�
������ ������ �
�����
*

-
��� ��
������ ��� � 	��
�� ,
���
����
 $	� ���

• J	��
�

� �����	
��
���5
�� �����	���	
�� ,��
�
����
 
 	����
��
*


�� � $����	��
���� ��$��
 �����,
�
�� ��	�
�
�� ��������

� $���

��	�>�� ������
�3 �$
��� 
� ����
��� �	� ���� � ���
������

�� ��
*

��

�� ����� �&'�

7



• ?	
��%�

� $�%� ������ ���

�
��� ����3 ��	��
$
����	
��� ������*

��
 ����	���	����	�3 �	
��$
� � ��	���$� �� 
�	��
����
��� �
�����

��	�������	
������� ������� � ������
�	
�� �����	
����
 
,��
	�*

��

�� ���
����� ��
������ � 	�%
��3 ��	��������� ���

�
�� ��*

����

• ?�	
�� �	�-���� 	�����

� ��%$� �����	�
��
 �	��
������%
� 
�*

�	����

�� �	����� ��
���� � �	
������

 ����
-
���  ����	�$�� �	
*

��$�� � ��	�$��� �
�	�

 ��%$� ��
����
3 ��� ��$$����� 
����	�$����
*


��� 
,��	�

�

• ���


	���

� �	�-����� ����
������� 	�����

� 
�
 	�����

� ��*

�	�$����� � ��
� �����
����
�
 ��
�
��
 ��%$� �����	�
��
 �	��
*

������%
� 
��	����

�� �	����� ��
���� � �	
������

  ����	�$��

��	�$������� 	������

�� ��%$� ��
����
 
 ��	����	��
  ����	�$��

K
�
�� ����$ ��
������� ������� � �����	
��
���5
�� 
����$���


 ����*

�� �
�
������� ����
-
��� � 	�%
�� $	� 
��� ���
������ ������� �����3

� 	� ���� ������

�� 	�,��5����� 
 
� 

��	�	���-

3 �	���$�


 ���	��
*

����
� 	������� �����	���	
�� ,��
�
����
 ������ �
�
������� ����
-
�*

�� � 	����� ��$��
 �����,
�
�� ��	�
�
��3 ��$�	

,�-

 
,��	
���5
��

����
���
3 � �����	
��
���5
�� 
����$���


 
�	��
����
��� ����$�

� �

�����	
��
��� /012*�
��3 �	���$�


 	������ ��	�$������� ��%$� �	�����


��
����
 � �&'� ���
���
�

6�
��
�� 	�,��5���� $
���	��-
�

�� 	� ���  ��
 $���%�
� 
� ���$��*

�
� >����� 
 ��
��	�
-
��; !�*� 
���
�� ��
��	�
-
� 8L=# @M�	
������*

��3 
�� 	5 �44(A3 B��	���
����� >���� ����$�� ���
�� N8
�	�*
�
����
�*

���

 
 
� �	
��
�

�O @M�	
��������3 #?=8 <:+3 
�� 	5 �44(A3 PQ <���
�*

���� ��
��	�
-
� �� �
,
�� �����	���$

��� @=����3 ���� 	5 �44�A3 QRPP

I	��5���� 8�%$�
�	�$
�� ,
�
�� >���� �� �
,
�� �����	���$

��� @S����*

	

 �	�*+����	��5��3 ���	��5 �4�4A3 QPR �
���,
�� N+�
��
,
�� 
 
�
�*

�����	�

��O @+
%

� +����	�$3 ��	� �4�4A3 8�%$�
�	�$
�� ,
�
�� >����

�� �
,
�� �����	���$

��� @J�
��*?���	 �	�3 ���	��5 �4�4A3 )*� B��	���
�*

.



���� ��
��	�
-
� ����$�� ���
�� N8
�	�* 
 
�
����
����

 
 
� �	
��
�*



�O @M�	
��������3 
�� 	5 �4�4A3 8�%$�
�	�$
�� ��
��	�
-
� TUVW EXYWZXW

[\ Z1Z[E]0^X]^0WE; _W` \0[Z]YW0E YZ ]VW aVbEYXE [\ c^1Z]^d e[]ET @M�	
������*

��3 ��
�� 	5 �4�4A3 Tf^Z/1dWZ]1gE [\ hgWX]0[ZYX Z1Z[EbE]WdE @_1Z[*aY]W0*�4�4AT

@J�
��*?���	 �	�3 
�
5*
��5 �4�4A3 ��
��	� 
���
�*
����$������5��
� 	�*

 �� #L== <:+ @�4�4A3 <���
����*
���-�
� �
���,
�� Tf^]^0W U0WZ/E YZ _1Z[*

WgWX]0[ZYXET @i�	��

�3 j�
�3 
�
5 �4��A3 8�%$�
�	�$
�� >���� �� �
,
��

���	$��� ���� Tc^1Z]^d kVWZ[dWZ1 YZ 201kVWZW3 []VW0 g[`*/YdWZEY[Z1gd1]W0Y1gE3

1Z/ [k]YX1g g1]]YXWET @#���
�3 '	
��3 
��5*������ �4��A3 QPQ I	��5���� ��%*

$�
�	�$
�� ,
�
�� >���� �� �
,
�� �����	���$

��� @S����	

 �	�*+�*

���	��5��3 ���	��5 �4��A3 QRP �
���,
�� N+�
��
,
�� 
 
�
������	�

*

��O @+
%

� +����	�$3 ��	� �4��A3 ��%$�
�	�$
�� ��
��	�
-
� TlWE[*�4���

_[Z*Wm^YgYn0Y^d 1Z/ X[VW0WZ] kVWZ[dWZ1 1] Z1Z[EX1gWT @M�	
��������3 
�
5

�4��A3 ���

�	� �� �
,
�� 

,�
� �����	���	 #L== <:+ @�44.3 �44(3 �44�3

�4�43 �4��3 �4��A�

?� ���� $
���	��-

 ��� �
����
� ! 	� �� � 	���	
	����� %�	
����;

?
�5�� � o'=L3 aVbEYX1g pWqYW` r3 aVbEYX1g pWqYW` sW]]W0E�

�
���	��-
� ���	��
� ���$���
� � 	�,��; � ��	��� ����� $�
 � ,�	 ��
��*


�� ���	��
����
� 
 �����	
��
���5
�� 	� �� �� ���� $
���	��-

G ���	��

����� �������
� ��	��$

��
����
� 
,��	�

�� ������ �
�
������� ����
*

-
��� �
����� � 	�%
�� $	� 
��� ���
������ ������� �����G � �	��5�� �����

�	�$������
� 
����$���

� 
�	��
����
�� �	�-����� � ������
�	
�� ���
��*

��� -���� 
 	����� � 

%
�� ��	�$�� ���	

 ��,����

� ��	�$������� ��%*

$� -����
 ���
���
G � ,������


 �	���� ��
��
� ������

�� 	�,��5����G

� �	
��%�


 � �$
�����
�
�� ��$��
 �	���$�
 	����� ,��
�
����
 $
���*

	�
-
��5
�� �	���$
����
 dI/dV �� �����	���	� 
 �����

 
�	��
����
���
3

�	���������� ��	�, ���
����� ��
����3 � �	�$����%�


3 ��� �����
-
�
�

�	������

� ���
������ ��
����� ,��
�
� ���5�� �� �
�	�

�

(



� ����� �
��������

��� �����	
�� �
����� � ���
����
� ���

�
�� �����

	 � � )��
��������* �����
��* +,,��� -
���

&��,
$����	
�� �����	�

�� �
����� ��%
� ��,$��53 
��	
��	3 � �
$� 

*

��	�
�

�� ����� �	��

���� 8�?*�	�
,
���	�� t�u 
�
 ���
����� ���� 
�

��
��� ����	���	����	� t�u� �����	
���5 ��,

���� � 	�,��5���� 	�,��	
�*

�� ���
����

� � 
��	����


 v3 ��	��
$
����	
�� 

��	�����; �����	�*


� ,�

���� ��	�$���

�� �	���
5 	�,��	
��� ���
����

�� S��
 
�� ��*

	���$�� ��%$� �	��
��
3 �� ��$ ��
�

�� �
�>

� ����� ����� ��
��5��

���5�� kx 
 ky �����
�
�� ���,

����5�� �����	�
�� ?	�����>
� �����*

��3 ����	�� 	���
,����� � �����	
��
��3 �������� ������ ,����
�

� �
>5



%
��� �	��
� 	�,��	
��� ���
����

�� =��$� �	
 �����	���	��3 ����� ��

�	��
�

� X 	������

�� ��%$� ,����
�

�� 
  �
%��>�� ������ �	��*


��
3 �����	�

�� �
����� ��%
� ��
���5 $����	
��� S��
 ����� $����	*


�� �
����� ������
�5 � ��	��
$
����	
�� ���

�
�� ����3 ��%
� ����*

�
�5 $
��	��
�� �����	 �
�	�

� '
�	���
����
� �����	 �����	�
�� � ���*



�
�� ���� � 
$���5
�� � 	�,-�  �, �	
����� 
��	�$
� � H��

�5 � ���*

�
 ,	�

� ���
����� ����

�
� i��
�5��

�
 �����	�
� � ���

�
�� ��*

��; H = 1
2m

(
− i�∇ + e

c
A(r)

)2

3 �$� m w ������
�
�� ����� �����	�
�3 A(r)

w �����	
�� ����
-
��3 c w ���	���5 �����3 ∇ w ���	���	 i��
�5��
�� 9�*

$��� 
���%$�

� �� ����

�� �
��� $�� ������ ���
�5��

�
� ���$
��� �

,�$��� 
���%$�

� �� ����

�� �
��� $�� ��	��

������� ��-
�����	� t"u�

=��
� � 	�,��3 $�� �
�	�

 �����	�
� � ���

�
�� ���� ���������� ���5��

$
��	��
�� 
� �	 	�,	�>�

�� ,
���

� w �	��
�� K�
$��� I	��

 ���
$
*

���
�
� 
 ��	�%$�
�� &	��
���5 ��	�%$�

� 
� �$


-� �����$
 	��
�

nL = eB/hc� 6�
�>�

� ��
-�
�	�-

 �����	�
�� � �
����� � �����

 ��*

	�%$�

� �$
��� �	��
� K�
$�� ν = ns/nL 
�,����� �����	�� ,����
�

�

ν� '
�	�
� �	


���� ,
���

� E = (i+ 1
2
)�ωc3 �$� i = 0, 1, 2, 3, . . .3 ωc = eB/mc

w -
����	�

�� �������3 � w ������

�� ?��
��3 � ������ ��

� �����	�
�

E = (i + 1
2
)�ωc ± 1/2gμBB @μB w ���
���
 F�	�3g * �����	 K�
$�A� =�� ���

�



�
�	�
� �	


���� ��	��� ��	�$���

�� ,
���

�3 � �
�	���
������ �����	�

�����	�
�� ��,

���� ���
� �
�����
-
�� �
����� 
��������� ������ �	


��	���$� � �$
��� �	��
� ���
����

� 
� $	����� ?��
�� �
�	�
� �
�����3

���
� � 	�,��3 
� �������� ����
�� ��
�-
�� ���� 
 
��������� 
,����3

���$� ,����
����� ���	�$
�� �	���
5 K�
$���

?	
��	�� �	�����

� $
��	��
���
 �����	� $����	
�� �����	�

�� �
*

����� � ��	��
$
����	
�� ���

�
�� ���� �������� ���
����� ������ ���*

��� &��
����� ������ ����� ���	�� � ��(4 ��$� &������ ��
 &�
�-

*

��� t)u� F��� � 
�	�%�
�3 ��� � $����	
�� �����	���$

����� �
������


� ,��
�
����
 ����	��
���@�����������A ���	��
���

� �� ���

�
��� ��*

�� �
$
� �����3 �� ���5 � �
�5
�� ���

�
�� ���� ���
�

� �����������

���	��
���

� �	


���� � ��
��
�� 

��	���� ���� $
��	��
�� ,
���

�

h/(ie2)3 �$� i w -���� �
���3 h w ������

�� ?��
��3 e w ,�	�$ �����	�
��

#
��
 ������
3 ��
,�	 �	���$
����
3 ����	�� ���,�
 � ��
,�	�� �$��5
���

���	��
���

� ����
�>�

�� σkl = ρ−1
kl 3 
���� �
$;(

0 −ie2/h
ie2/h 0

)

&�� �
$
�3 
�$
���
��5
�� �	���$
����5 ��	�$������� ��� 

�-
�� ��
$�*

��
���5
�� ��
���
�� I$
�
���5
�3 
� ��	�%�

� $�� ����������� ���	��
�*

��

� @���	�����
������ ���
�

�xA �������� ���
�� �� �	��
�� ��	� $�

10−7 t!u� �
���
��5
�� �	���$
����5 � 	������� �	
 ���� � 
��53 
 �
�����

�������� 
�$
��
���
�
���

6 	�,���

� ����� ���
� ���,�
� � 
��
�
�� ����� � �
�	���
������ ����*

�	�� B 	��
����

 �	���
5 �����	��
�����
-
��� � �
����� �$

����� =� ���53

���� � ,����	�3 
�����

��� 
� ����	�
���5 � 	�,-�3 
� �	
��%�
� 
��	�%�*



�3 �	��

 L�	�
 $����	
��� �����	�

��� ��,� 
 ,����	� �����$���3 � ���

����%�

� ,�$����� 
���$
�� ��
-�
�	�-
�� �����	�
��� ?	
��%�

� 
��	�*

%�

� Vg � ,����	� ��
��� ��
-�
�	�-
� �����	�
��� <�,
���5 ����
-
����3

������

�� �� �
�>
�� �����	
������ -��53 ���$

����� ,����	 � $����	*


�� �����3 ����� �����

�� �	��
� L�	�
 � ,����	� ��
��
���5
� $����	*


��� ��,�� ?��� �	���
5 K�
$�� ,����
�
 
� ���
���5�3 �	���
5 L�	�
 �����*

�4



$��� � 

�� ���5
��>�� ����
��

� ��
-�
�	�-

 
��
����� � $����	
�� ��,�

���	� ��� 	�,����

� �����	�
�� 
� ���$����� �	��
� K�
$��� ��� �����

L�	�
*�	���
5 ,����	� $��%�
 ���,��5�� 
��	��
� 
���3 �$�

��>
�5 ���	�


� �ωc� ?������ � 

��	���� ,
���

� 
��	�%�

� �ωc/eL�	�
*�	���
5  �$��

��	������5�� �� �$
��� �	��
� K�
$�� � $	�����3 
���$��5 � ,��	���

��

�
�	���
������ ,�
�� �����	
�� ��, �	
 ��
� ,
���

�� 
��	�%�

� ������*

�� 
,�����	�� � ��� ������3 ��� �
 
� ��%�� �	


���5 $� ����
�� ����*

�	�
� 
 ��� ����� ��	�

	����5 �
�>
�� �����	
������ ����� �����

���5*


�� �
����� �



 �����	
������� ����3 � �����
����
� 	�,
���5 ����
-
*

����3 �	���$�� ��	�, �e*���� 
�����,5� ?	
 ���� ��
-�
�	�-
� �����	�
��


� ,����	� 	�����3 � � $����	
�� ��,� �������� ������

�� � -���� ,
���

*

�� �����	� ,����
�

� ν� &����
�
	���
� ,�	�$ ��,

���� �
� �e*����3 �

��� 
�,������� 	�,�	���	�3 	��5 ����	��� ����� 
�	��53 
��	
��	3 �	
���


� � H��� ��$��%�
 �e*���� 
�
 ��
����
� ��
������ &��$� �	
 
�����	��

,
���


 
��	�%�

� �	���
5 L�	�
 $���
�
�� ���$������ �	��
� K�
$��3

,�	�$� 
, 	�,�	���	� ��	
���� � �e*����� &�
-�
�	�-
� �����	�
�� � ����


,��

��� �
����� �������3 ,���� �	�$��%
��� �� ����
�� 
,��
�

�� ?	



�
,��

�� ��
-�
�	�-

 ,�	�$�� � $����	
�� ���� ���������� 
��	�%�

�

�������� ������

��� ?������ � 
$���5
�� � 	�,-� 
� ,��
�
����
 ����	��*


��� ���	��
���

� ρxy(Vg) �� ,����	
��� 
��	�%�

� $��%
� ��,

�
��5

������ S��
 � � 	�,-� �	
��%�
� 	�,
���5 ����
-
���� V 3 �� ���,5 ��%$�

����� 
 
��	�%�

�� ,�$����� ��	�%�

�� J = ν e2

h
V � B ��������
� ��� �$*

$
�
�
� �
���� ����$ ��� ,����
�

�� �	��

 K�
$��� =��
� � 	�,��3 ���*

�����
� ��� � $����	
�� �����	�

�� �
����� ��%�� ���5 �� ������

��3

��%��
� 

%� �	��
� L�	�
3 ������5�� �
 �������� 
�$
��
���
�
���

6$
���3 � 	���5
�� � 	�,-�� ����$� �	
���������  ����	�$��3 ����	��

�

���� ��	�%$�

� �	��
� K�
$��3 � 	�,��5���� ����  ����
��
� ��
�
�

�	���
5 �>
	����� � �


,�
� 
 ���������� �����
,���

�� ������

�� J�
*

������3 ��� ��	�
�� ���� � ���� ������ �������������� �� $������
,���

��

������

�� 
� �	��
� K�
$��� I���	%$�

� � 
��
�

 $������
,���

�� ��*

����

� ��$ �	��
�� L�	�
 ����� � ��
��� �����

��� �����	
��
�� K���
*

��



E 
   

 (a
.u

.)
0 1 2 3

ν

to
ta

l

<
�� �; J�����
������ 
,� 	�%�

� �
�	�

 ��
��
��� ������

� � �&'� �

�$
�����
�
�� ��$��
 @�

�� �


�A 
 � ������ �,�
��$�����
� @�	��
��

�


�A


� t!u3 ����	�� ��,$
��  �� 	���
,���
 
 �����	
��
���5
� t73 .u� 6$
���3

����������

� $������
,���

�� ������

� � 	�%
�� &'� 
� �����������*

���5 �	
 �	�$��5
�� ��	���$� B → 0 �� �����

����� �
����,��� ��� 	�,	�*

>�

� ����� �	��
��	��
�  ��� �	�$��%�
� ���	
� �������

� �	��
��3 ��*

����
� ����	�� $������
,���

�� ������

� 
� 
���,��� ������� �	
 B = 03

� ��������� �� �
�	�

 t(u�

J��$��� ��$��	�
��53 ��� ������
�� ���� �	
����� 
 $	��
� $�������

� ������
���� �
�	���
������ ��	����	� 
 ��	����	 ���
���� ��
�-

� ��*

	����	
�� 	�,��	 ���
���� ��
�-

 � �
���� �
����� ��	�$����� ���

�
��

$�

� lB = (�c/eB)1/23 ����	�� ,�$����� ���

�
�� ������ =��
� � 	�,��3

�	��

��� ���

�
�� $�

� � ��	����	
�� ���>�� �� λ3 
� ����	�� ����
*

-
�� ��
����� ,
��
���5
�3 ��%
� ����	
�5 � $��� �	�$��5
�� �
��� ����*

���-
� ����
-
���  ����	�$��; ��	������	
�$
�� λ < lB 
 $�


���	
�$
��

λ > lB� ��� �
�� ����
-
���  ����	�$�� �� 	�,
��� ��
��� 
� �����	 $��*

��	
�� �
������ &�	������	
�$
��3 
� ��
�� �$
�	�$
���
 ����
���
 ����*

��



�	�
��3 �	
��$
� � �>
	�

� �	��
�� K�
$�� 
 �	��������� � ����
��




�	�
,��$
�� dμ/dν � 	���
� ����-���� �����	�� ,����
�

� 
 ���
5>�




���
�

� ������� �
�����
-
��� �	
 -����
���

�� ν� ���5
�$��������
�

����
-
�� ��������� �	��

 �����5
� �,�
�
3 
� �	
��$
� � ��	�	���	�$���*



� ����
���
 �����	�
�� �	
 ��	�

	����� B ���� ������ � 	�,�- ��	����*

	
,����� �	�$

� ,
���

�� ����
���
 �����	�
�� 
 �	��
� �
�����
-
����

+��$
�	�$
�� 	���	�$���

� ����
���
 �����	�
�� �	
��$
� � ����
��

�

�%
�������
 dns/dμ �	
 -����
���

�� ,
���

�� �����	� ,����
�

�� &�*

	������	
�$
��  ����	�$�� $���  ����
��
� ����� ����
���5 ������

� �

���
3 ��� 
� ����������� � �����	
��
���5
��
 	�,��5�����
 t��u3 � $�������*


�  ��5>�� ����
���5 ������

�3 ��� ��������3 � �������
� $�


���	
�$*


��  ����	�$���� F���� ����3 �����	
��
�� t("u �� 
� ��$�

� ��-
���-
�

>
	

� �	��
� K�
$�� 
 
� 	�,���� 	���� �	
 ,
���

�� �
�
������� ����
*

-
���3  �
,�
� � �
�	�

  ����
��
� ��
���� �	��
� K�
$��3 ���,����
 
� 
�

�$
������	�

�� �	
	�$� ����
���
 ������

�� ��� � H��
�

� ����� �����

 ��� �	�$��%�
� ��$��5 
��

��
��� ��	�

	���

� $����	
��
 �����	�*


��
 ����
-
���  ����	�$�� t(�u� ?	
 $�������
� ����� ��
-�
�	�-

 ����*

�	�
� ����� �����5
� ��	�

	����5 $�


���	
�$
�� ����
-
��  ����	�$*

��3 ��� � ���� ���	�$5 �	
��$�� � ������

� 
�
������ ����
���
 ������

�

��%$� �	��
��
� ��	�>�� ������
� �����	
��
���5
�� $�

�� $�� ��	��$
*


��
������ ����
���
 ������

� 
 	������� �� ��$��
 
��

��
��� ��	�

*

	���

�  ��� $���
�
���3 
��	
��	3 � 	� ��� t��u� ?�����
 ��
���5 
�
���*

��� ����
���5 ������

� �
��
�
����
  ��
 �	�$�	

��� � 	� ���� t�!3 �7u�

J�
�����53 ��� ��
-�
�	�-
� �����	�
�� � � 	�,-� �  ����	�$��� 	���	�$�*

��
� �� ��
�-

 i������ J	��
�

� ���	��
����
� 	������� � ���� ��$��
 �

�����	
��
���  ��� �	���$�
�3 
��	
��	3 � 	� ��� t"�u $�� �	������ � ���*



��������
 � -����
���

�� ���
����� ������� ����� 
 $��� 
������� ��*

�������

� ���	

 � �����	
��
����

��� ��
��

� �
����� ��	�
*����
- � ��
� 
����5,����� �	�$������

�

� �����
��	
�� ��, �%$�

�� * ���,
����
-��� '����	�
*�����	�

�� �,�
*

��$�����
� ��%�� �	
����
 � 
,��
�

� 	�,�
�
�� ������� �
����� 
 ����%*

�"




�

� ��
��

� �
������ ?�	��� 	� ��� �� 
����$���

� �	�����

� ��*

%�����	�

��� �,�
��$�����
�  ��
 �������
� 
,���

� ��	�
�	�
	���


���
� ��	����	
��
� ���,
����
-3 ��� ������
�
�� ����� 
 �����	 K�
*

$� @2*�����	A� =��3 
��	
��	3 �,�
��$�����
� �	
��$
� � ��
��

� ��

�*

��� ���
3 � ���
�

� 2*�����	� � �
����� �,�
��$��������
� �����	�
��


���� 	�,��� ,��
�
����5 �� �����	�

�� ��
-�
�	�-

 t�u� I��� �,�
��*

$�����
�3 ��� ����,�
� � 	� ��� t�4u3 ��%�� �	
����
 ���%� � ������

�


�
������ ���	�� �	�
,��$
�� ���
�� �
�	�

 �
����� � 	�%
�� &'� � 	��*

�
� -���� �����	�� ,����
�

�3 ��� ����,�
� ������
����
 
� 	
��
�� �3


3 �����������

�3 � ����
��

� ������ �
�����
-
��� t�443 �4�u� B�
�

�

�����	�
*�����	�

�� �,�
��$�����
� 
� ����
���5 ������

� � $����	
��

�
����� 
�����5�� �
�5
�3 ��� ��%�� �	
����
 � ��	
-����5
��� ,
���

�

����
���
 ������

�3 ��� 
� ��$����5 �	
 ��	��$

��
����
� 
,��	�

��

��� 
� 8�?*�	�
,
���	�� t�(u3 ��� 
 
� ����	���	����	�� t��u

B�� �� ����	�3 ,�$��� �,�
��$��������
� �����	�
�� 
� ��%��  ��5 	�*

>�
� ���
�� B  ��5>

���� ���	��
����
� 	� �� ���� ��%�����	�

��� �,�*


��$�����
� �������������� � �	�$����%�


 ������
 ����
������ �
�	�



�� �	��
�

� � -
����	�

��� ������
���5
�3 $�

�� �	�$����%�

� ��	�*

���� ,�$���3 ��,����� � ���� �	�$��� 
���
 ���
�� ,
���

� �
�	�

 
 ���
�*

��� ��
�-
� �����	�

�� 
 $�	��
�� ��, �%$�

�� +� � $����	
�� ����*

�	�

�� �
������ � 	���5
�� � 	�,-�� ��� �����
� 
�	�>�����3 
 
�����*

	�� ���	��
����
� �	�$���,�

�3 �$���

�� � 	����� ��
� �	�$����%�

�3


� ������������� �����	
��
�� $�%� � �	�����>�� ������ -���� �����	��

,����
�

�� B 	� ��� t()u � �	�$��� �
�5
��� ��%�����	�

��� �,�
��$��*

���
�  ��
 	������	�
� �������
�
�� ,�	�$���� 
 ��

���� ��, �%$�

��

?��	���
3 ��,

�>
� � ���� �	�$���3 ����
  ��5 �	
�

�� 	����%$�

� �

�����	
��
��� $�� ���
��-
�

�� ���
 ,�	�$���� ��, �%$�

�3 ����	��

���,��
�5 ,
��
���5
� ��
5>� ���	��
����
 �	�$���,�

�� �� � ��

�� ��*

��
������ �
�	�

 
 �

��
� ,��
���
 �� ���� t�.u�

6��,����53 ��� �����
5�
 ����������� ���	��
���

� � 	�,-��  ���� ��*

������ �������� @�  ��5>�� 

,�������	���	
�� ��$�
%
���5� 
��
����� �

�)



��������

 ���

�
��� ����A ���������� 
� ���5�� �	
 -���� ,
���

�� ν3


� 
 �	
 
�����	�� $	� 
��� B��	��� ��� ����

�  ��� �����	
��
���5
�

� 
�	�%�
� �	
 ν = 1/3 t�4�u 
 �����
�� 
�,��

� $	� 
��� ���
������ ��*

����� ������ ?�,%�  ��� ������
� ���
����

� ����������� ���	��
���

�


 �	
 $	��
� �����	�� ,����
�

�3 �$� ν w 	�-
�
��5
�� $	� 5� J�
������3

��� �	
�

�� ��,

�
���

� $	� 
��� ���
������ ������� ����� ��������

�,�
��$�����
� ��%$� �����	�
��
3 ������� �$
�����
�
�� ��
��

�3 	��*

����	�

�� 	�
�� $�� @-����
���

���A ���
������ ������� �����3 
��	
��*



���

	 � 	 .�
���* �����
��* +,,��� -
���

��� � H��
�

� $	� 
��� ���
������ ������� �����  ��� 	�,	� ���
� 
�����5*

�� ��$��$��3 
�
 ���� 
,����
�� 
, ����	��  ��
 �	�$��%�
� <�F�K���

�� t�4u


 �%�&��%��
�� t��u� +
%� � 	������	� ��
 ��$��$� � � �
� ��	����

K���

 �	�$����%
�3 ��� 
,*,� �
�5
��� ����
������� �,�
��$�����
�

��
��
�� ������

� �&'� ���5 
��%
������ %
$����5� B��
���� ��
�-
�

 ��� �	�$��%�
� ��� ��	
�-
�

�� ��
��
�� ������

� �
����� $�� ��$��5*


��� ���
�5��

�
� � ����
����
� ����
-
����3 
 ���	���
	���
� �����
�

�


���� �
�	�

 ����� �
������ 6��,����53 ��� �


��� $���
������ �	


�����	� ,����
�

� ν = 1/m3 �$� m w 
����
�� � �
�� �
�
�
����	
�
���


���
���� ��
�-

 �����	�
�� 
 m = 3, 5, 7� 6$

� 
, ����
�� 	�,��5�����

���	

 K���

�  ��� �	�$����%�

�3 ��� � ��� 
�5
�� ������


 � ν = 1/m

�����
��	
�� ��, �%$�

� w ��� ���,
����
-� 
�
 ���,
$�	�
 � $	� 
��

,�	�$�� ±e/m� +��	
��	3 �$

 �����	�
3 $� ����

�� � �
�����3 �������*

������ m �����
��	
�� ��, �%$�

��3 � ������ �	�
,��$
�� �
�	�

 ,��
*

>���� ��� Δμ = ∂E
∂Ne

∣∣∣
ν+0

− ∂E
∂Ne

∣∣∣
ν−0

= mEg3 �$� Eg w �
�	�
� ��,$�

� �$
��

���,
����
-� 
 ���,
$�	�
� &��$� �����	 ,����
�

� ����$
� �� ��� 
�5*


��� ������

� ν0 = 1/m � 
����
�� -���� m3 �������� 
��
�
� 
� ��5>��

����
���
 ���,
����
- 
�
 ���,
$�	�� � ����
����
� �,�
��$�����
���

o
$����5 K���

� y ���
����� ������

� $����	
�� �
�����3 � ��$��*

��� ���5� � �
�	���
������ �����	�� +��
�
� ��
��
�� �
�	���
������ ���


�!



�	
��$
� � 
$���5
�� �	���$
����
 νe2/h � ����

������ ������


 @��	��*

���5
�� ���	��
���

� ��	��
��� � 
���3 ��� � -����
���

�� &'�A� J��*

��
5�
 
� ,��
�
����
 ����������� ���	��
���

� RH(B) �	
 $	� 
�� ���*

��	�� ,����
�

� � H��
����� 
��%
�������5� ����

������� ������

�3

���$� ��
-�
�	�-
� 
��
����� 
3 ���$������5
�3 ���������� ���	��
���

�

������

�� ?���	��

�� K���

�� ���	
� ��	�>� � H��
��� 
��
�
� ���*

�� �	
 �����	�� ,����
�

� �� ,
���
������3 ��
5>
� .� 6$
��� �����	
*

��
���5
�� 
� ��$�

� �����	�� ,����
�

� ν = 2/3, 2/5, 3/5, 3/7, 4/7 t�4�u

���,��� 
� 
�� ��$
����5 	��>
	�

� 
 $����
�

� $	� 
�� 
�	�	�

�

F�#�i��5��	

 t��u 	��>
	
� ����� 
�	�	�

 $	� ��3 �	�$����%
�3 ���

���,
����
-� �$�������	��� $	� 
�� ����
��
�� @����
��
�� $�� ����
- �

$	� 
�� ,�	�$��A� B�%
�� ���$���
�� $	� 
�� ����
��
�
 �������� 
,��*


�

� ����� � ,����
�

� ������

� ���,
����
-��
� S��
 ��� 
�5
�� �����*

�

� � �����	�� ,����
�

� νs ������
� 
� s �	��
� 
�	�	�

3 ��  ���� 

,*

�
� �� �
�	�

 ������

� $�� �����	�� ,����
�

� � ��	���
���
 νs �����

 ��5 ��
��
� $� ����

�� 
� ��5>�� ����
���
 ���,
����
�
�� @���,
$�*

	��
��A ��, �%$�

� 
�$ ��
��
�� ������

�� � νs� +��	
��	3 $�� m = 3 


���,
$�	��
�� ��, �%$�

� @�� ���5 �����	 ,����
�

� �����	�
�� ν ������

��
5>� �z"A3 ��	��� N
�	�	�
������O ������

� 
���� ����
���5 ���,
����
-

�z. 
�
 � ��� �����	�

�� ����
���5 �z. y N
����O $	� 5� ��� ���,
��*

��
�
�� ��, �%$�

� @ν ������  ��5>� �z"A ����
���5 ���,
����
- 	��
� �z!3

� ����
���5 �����	�
�� �z!� 8�%
� �����
�5 
 �����5
�� 
�	�	�
� ������*



�3 �����	�� ��$� 
�� 	����%$�

�� 6$
���3 �	� ���� ���������

� ���	



� �����	
��
��� �������5� B ����
���
3 ��	�$�� ������

� $	� �� � ��,	��*

��

�� ���� 
 ���
�

� $	� 
�� ����� �	
 1
3
< ν < 2

3
3 �����	
��
���5
�


� ��$����� $�� ν = νn = n
2n+1


 ν = 1 − νn3 
� � H��
����� � 	����� 	��*

>
	�

�� ��$��
 K���

� t��3 �"3 �.3 "!3 "7u�

�	���� ��$��$ � ����	��

� ���	��
������� ��
��

� $	� 
��� �����*

�� ����� �	�$��%
� �%�&��%��
 t��u� B ��� ��$��
 ���$���� ���,
����
*

-�3 �������
� 
, �����	�
� 
 �	
���$

�

�� � 
��� φ ���
��� ���

�
�*

�� ������ Φ0 = hc/e� M�� � ���,
����
-� ��$�

��
�5 ����
��
�� L�	�
*

�7



�
	���3 φ $��%
�  ��5 ���
�� �
����� B ����� $���3 �	
 ��	����
���� ��*

����
 $��� �����	�
�� w ��	�
*����
- w ���
���� ��
�-
� 
,��

� ,
���

?	
 ��	����
���� ���,
����
- ��
��
���5
� $	�� $	���3 ���
���� ��
�-
�

$��%
� ��
��5�� 
� ��,���� �
�%
���5 eiθ3 �$� θ = π(φ+ 1)3 
 �
�
�
����*

	
�
���5 ���
���� ��
�-

 � �����
������ ���
���5� φ� =��	
� �	�$
���

���� 	�,�
� F�#�i��5��	

 
 $	� t�"u3 �	�$����
� �,�
��$�����
� �����	�
��

��� N$� ����
��O �����	
�� ����
-
��� =��$� ���
�5��

�
 �	�$
��� ����


���� �
$; H0 = 1
2meff

(
− i�∇ + e/cA∗(r)

)2

3 �$� meff w ������
�
�� ���*

��3 A∗(r) w �����	
�� ����
-
�� �	�$
��� ����3 ��	�$������� �����3 $��*

������
� 
� ���,
����
-� ∇ × A∗ = B∗ = B − φΦ0ne3 �$� ne w �����5
��

����
���5 �����	�
�� � ����� r� =��
� � 	�,��3 �
����� �,�
��$��������
�

�����	�
�� 
� 

%
�� �	��
� K�
$�� ��%��  ��5 ���$�
� � �
����� 
��,�*


��$��������
� ���,
����
- � ������
�
�� ���� B∗� ?	
 φ = 2 
 �����*

	� ,����
�

� ν = hcns/(Be) = 1/2 ������
�
�� ���� B∗ 	��
� 
���� '
�	*

���
����
� �����	 �����,
�
�� ��	�
�
�� � ������
�
�� ���

�
�� ��*

�� �	�$�������� �� �� 
� �	 ���
$
���
�
�� �	��
�� � �
�	�
�� �eB∗/(m∗c)

@m∗w ������
�
�� ����� �����,
�
��� ��	�
�
�A 
 �����	�� ,����
�

�

ν∗ = nsΦ0/B
∗� L����	 ,����
�

� �����	�
�� ���,�
 � �����	�� ,����
�

�

�����,
�
�� ��	�
�
�� ���$���
� ����
�>�

�� ν = ν∗/(φν∗ ± 1)3 ����	��

��,������ ��
���5 	�,
�� ��	

 $	� �� � �&'��

+�%
� ��$��	�
��53 ��� �
���

�� 	������ 
� $��� �$�������	
���5
�*

�� ������
� � �����	
��
���5
� 
,��	�

��
 ,
���

��
 ���
 ��$�
%
���



 ������ �
�
������� ����
-
���� ��

�� 	����%$�

� � ��
� �	
�
������


�$�������
��� �������� � 	�,-��� =�� 
� ��
��3 ���	
� ��������

� � H��
�*

�� 	�$ �����	
��
���5
�� 
� ��$�

� �	
 $	� 
�� ν3 � ����
���
3 ��

����

��	���$� � ��
��
�� ������


 �	
 ν = 2/3 
 $	��
� �����	�� ,����
�

� �

����� ����� 
 
�	�	�
� ������

� �&'� t��u�

B �����$
�� �	���  ��� �	�$��%�
� ��� �$
� � H��
�

� $	� 
��� ���
*

������ ������� ����� t(�u 
� ��
��� ����������

� �������
����
� ��	����	�

B ���
�
� �� �	�$�$��
� ��$����3 � ���� 	� ��� 
� 	������	
������ �	�$��

 ��5>�� �� �	��
�

� � ����
������ ���
�

� -
����	�

�� �
�	�

3 � ���

�.




� ��$����� $	� 
�� �����	� ,����
�

� ������
�  �, �	
�����

� ��
�*

�
� �����,
�
�� ��	�
�
��� B ���� ��$��
 ���5 � �����	� ��	�$������� 
�

���5�� �,�
��$�����
�� ��%$� �����	�
��
 
 �  ��5>
� ����� �	���
����



� ,��
�
� �� 
����

	 � � /�����
����� ���'������� �
��
���* .0�-

B�� ��$��
 �&'� �	�$�������� 
��
�
� ����� � �����	� ,�	�%�

�� ��,*

 �%$�

�� =��
� � 	�,��3 $	� 
�� �����	�� ,����
�

� ������������� 
,*

���� � �
�	�

 ��
��
��� ������

�3 � �	�
,��$
�� �
�	�

 �� �
��� ����
-


��������� �����
 Δμe = dE/dns|ν+0 − dE/dns|ν−0� J��$��� �����
�53 ���

������ �
�����
-
��� Δμe 
� 	���
 ���
 � �����	� $	� 
�� ���,
����
-�

B ���
�
� �� -����
���

��� ������� �����3 ��	�� 
,����� �
�	�

 ��*


��
��� ������

� �&'� ���
� 
�
,����
�� ?�����
 ��	�$��
�5 ��	�� 
,*

����� � ��$��
 K���

�  ��
 �	�$�	

��� F�#�i��5��	

�� t��u� ?� ���

	������� 
,���� �
�	�

 ��
��
��� ������

� �	
 $	� 
�� �����	�� ,����*


�

� 
���� ��	�� ������
 � 
�
������ ���	�� �	�
,��$
�� @���	
�� �A� 6$*


���3 �
��
�
����
� 	�����  �� �	���$�
 �	
 �
%�

� 
 ��$
��� $�� ����*

����

���3 
� 
� ���
������

��� ��
��

�� :
��
�
������� ��	�%�

� ��	*

�� 
,����� � �
�	�

 ��
��
��� ������

� � ��$��
 K���

� ��*�
$
����


��� M
���

�� 	����� $�� ������ �
��� ����
-3 �	���$�

�� &�i	���� 


:�8����
��5$�� t�)u3 ��������

� ��$���	$
� ��	�� 
,����� � �
�	�

 ��*


��
��� ������

� �&'�� =�� 
� ��
��3 �	� ���� � ���
������

�� ��
��*



�� �������5�

:
��
�
������ ��
��

� ��	�� 
,����� � �
�	�

 ��
��
��� ������

�

�	
 $	� 
�� �����	�� ,����
�

� � $��� ��$��
3 
,��%�

�� :�K�'�	����

$�� �&'� t�4u3  ��� �	�$��%�
� � 	� ��� t��u� J��$��� �����
�53 ��� 
�����*

	� 
� ���� �,�
��$�����
� ��%$� �����	�
��
3 � ���� ��$��
 

���
� ���*

 �

����� 
� ,��
�
����
 ���
�� �
�	�

 �
����� �� �����	� ,����
�

�

�	
 $	� 
�� ,
���

�� �����$
��� 
� ����������� B 	� ��� t��u �	�$������*

���53 ��� �	
 ����$� �� ���
��� $	� 
��� �����	� ,����
�

� ν0 ����
���5

���,
����
- 
�
 ���,
$�	�� Nqp �	���	-
�
��5
� |ν − νo|3 � $� ���� � �
�	*

�(



<
�� �; '
�	�
� ��
��
��� ������

� � �&'� @� �$


-�� e2/εl0A ,� �������

����
�� ��
�-

 �����	� ,����
�

� Epl [��]

�

 ,� ���� �,�
��$�����
� ���,
����
- $��� ����$ �� ���	�� �	�
,��$
��

�
�	�

 �� �
��� ����
- ��	�$�� |ν − ν0|−1/2� J��
 ���,
����
-� �,�
��*

$�������� ��$� 
� �����	�
�� � ��$��
 
��

��
��� ��	�

	���

�3 �	�$*

��%�

�� :�K�'�	����� 6$
���3 ��������������� ��	�� 
,���� � �
�	�



��
��
��� ������

� 
� ��������������5 � �����	
��
���3 ��� �	
�
�������5


�
,����
��� ����

,�� ��$����

� �&'�  ����	�$���� 9��
�
����5 �
�	*

�

 ��
��
��� ������

� �� �����	� ,����
�

� ��%��  ��5 �
��
�
����


������
� � ��$��
 �����,
�
�� ��	�
�
��3 ��� �	�$���
� 
��
 � 	�,$���

N:
��
, �����	���	
�� ,��
�
����
O�

?	�$����������3 ��� $	� 
�� ���
����� ������ ����� ����

� �
�����*

��
�
��3 � ���5 � �
�	���
������ �����	� �	
 $	� 
�� �����	�� ,����
�*



� ��	�$������� �����	�
*�����	�

�� �,�
��$�����
��� J�����
� �
���
*


�� 	������� ������ �
�����
-
���3 �������������
� ���
 � �����	� �	


$	� 
�� �����	�� ,����
�

�3 ��	�$������� ����
����
� �,�
��$�����
��

��%$� �����	�
��
 �
$� e2/εlB3 �$� ε y $
�����	
������ �	�

-������53

��



lB = (�c/eB)1/2 y ���

�
�� $�

�3 
 �	���
����
 
� ,��
�
� �� ,
���
�*

���� $	� 
 q $�� 1/3 ≤ ν ≤ 2/3 t�)3 �!u� =��
� � 	�,��3 
� ��$�

� ��	
����

,��
�
����
 ������ �
�����
-
��� �� ���� @∝ √
BA �����  � ��$���	$
�5

�	�$���������� �	�
���%$�

� ���
�

+� �	���
�� ���5 � �
�	���
������ �����	� ��	�$������� 	�,�
�
��


����$��
� J��
$�	�
�� ���
��-
�

�� 
,��	�

� ��
��������� 
� ��	�*

$���


 �
�	�

 ���
��-

 � �


���� �	�$��5
��� ���	��
���

� ρxx ∝
exp(−Δ/2T ) � 	�%
�� ���
������ ������� ����� t�73 �.u� &�� �	�$������*

����3 ���
��-
�

�� 
,��	�

� $��� ,
���

� ���
 Δ � �����	� $	� 
��

���,
����
-� B�� �� ����	�3 ��� ��	
� ���5�� $�� 
$���
,
	���

�� �
����

�
������ B �� �� 	���5
�� � 	�,-�  ����	�$�� �����
,��� ���,
����
-�

@��$� 
� �����	�
�� � �&'�A3 ��� 
��	
��	 	� ��� t�4!3 �47u� B ���
� ����*

�
�� �
�	�
� ���
��-

 ��	�$����� ���5 ��$�
%
���
3 ����	�� 
���� �	���

���
���5�� �� ���
 � �����	�� B 	� ��� t�7u 
����$������5 �
�	�
� ���
��-



�	
 ν = 1/3, 2/3, 4/3, 5/3 
� 	�,�
�
�� � 	�,-�� � >
	���� 

��	���� ,
���*



� ���

�
�� ������ J �����5� ����	��

� :		�

��� ��	�%����5 ���
*

�

� ���
 
 �� ������

�� 	�,��5����� ��	�$������5 ,��
�
����5 �
�	�



���
��-

 �� ���

�
��� ����� ?�����

�� ,
���

� ���
�

� ���
 ,����
�

��
5>� ���	��
����
 �	�$���,�

��3 
������ ��
$�
-
� � ,�
���

� ���
*

�

� ���
 � ����� ����� 
 
�����

� � �	�$���  ��5>
� ������ ?���%
�

,��
�
����
 
� ��$��
�5 
�$��
� 
� � 	�,-��  ���� �������� ��������� :�*

��	� t�.u �	���
$��� 
� 
� ��$�

� 
,���� 
� ������� ,��
�
����
 �
�	�



���
��-

3 ��� 

��	�	��
	����� ��� ���
� ��

���� ��
�
��	�-

 

,��*

��%����� ,�	�%�

��� ��, �%$�

��

B �������� ��5��	
��
�
��� ����$� 
,��	�

� ���
 � �
�	���
������ ����*

�	� �����	�
�� � 	�%
�� �&'� �	�$������� ���

�����
����
� ����$ t"7u�

'��� ����$ ��
���
 
� 
,��	�


 

��
�
�
���
 
,�������5
�� 	���� 

�*

-

 $����	
�� �����	�
�� � ��, �%$�

��
 ������ $�	���
� ?� 

��
�
�*


���
 ��	�$������ ��	��� ����
� �����	� 
,�������5
�� 	���� 

�-

3 ��*

��	�� � 	����� ��$��
 :���5���� 
 <�> � t".3 "(u �	���	-
�
���
 ������

�
�����
-
��� �����	�

�� �
����� �	
 
������ �����	���	�� J�������
*

�4




�� ��		��-
� �����	
��
���5
�� $�

��3 ����������

�� � 	����� ��$��
3

��,���
�� �����
�5 �� �

��
�� ,��
�
����
 ����� �� ����� 8��

�����
*

����
� ����$��  ��
 ������
� �����  ��5>
� 
, �����	
��
���5
�� ,
�*

��

� ������ B ��� %� 	� ���  ��� 
����$���
� �����	���	
�� ,��
�
����5

���
�

� ���
� F��� ������
�3 ��� ,
���

� ���
�

� ���
 � �����	� �

����>�

�� �����	���	� ���
5>�����3 � �	
 ��
��
���5
� �����
� �����*

	���	�� ���5 ������������� ?�*�
$
����3 ����� ����$�

� ���,�
� � ���3 ���

� ��
� �����	
��
��� 
,��	����� 
� �
�
����
� ����
-
�� �
�����3 � �	�
,*

��$
�� ���
�� �
�	�

 �� �
��� ����
-3 ��� ���5�� ��������

� �	
 ��
��
��

�����	���	�3 ��� � ��%$����� � ����� N:
��
, �����	���	
�� ,��
�
����
O�

B ���
�
� �� ���
��-
�

��3 ��	��$

��
����
� 
,��	�

� ��,������


��	���� 
,��	
�5 ���5 � �����	�� +��	
��	3 � 	� ��� t��u 
����5,����*

�� ����$ �	�

������� ����3 ��,������
� ��	�$��
�5 �%
�������5 K =(
N2 ∂2Etot

∂N2

)−1

=
(
N2 ∂μ

∂N

)−1

@N w �
��� ����
- � �
�����A � � �����
�� �$


*

-��� #����$����� ���
�

� ������ �
�
������� ����
-
��� �����	�

�� �
*

����� �	
 �����	� ,����
�

� ν = 1/3 �� ���

�
��� ���� ���,����5  �
,��

� �

��
��3 � ���
�

� ������ ,����
� ��
5>� ���	��
������� ?� 	�,��5*

�����  ���� ��,$
�� 	� ��� t�"u ������ �
�����
-
��� �

��
� ��,	�����

� ����
��

�� ����3 � ����� ����� B � 3T ���
�

� ������ ���
��
���5

	��
�� 
���� ?����$
�� � H��
����5 ��
�

��  ����	�$�� � $����	
�� ����*

�	�

�� �
������ J��$��� � ����	�%
���5� �
��
,
	����5 $�

�� $�� ������

�
�����
-
���3 ������

�� �	
 ��
��
�� �����	���	�3 ������5��3 ���  ���

����,�
� � t�!3 ��3 "�u3 ������ 
���� �
�5
�� �����	���	
�� ,��
�
����5�

J��
$�	�
�� 
,��	�

� �
�	�

 ���
��-

 � �


���� �	�$��5
��� ��*

�	��
���

� 
����5,����
�5 $�� 
����$���

� ,��
�
����
 ���
 � �
�	��*

�
������ �����	� $�� 	�,�
�
�� �����	�� ,����
�

� �� ,
���
����� $	�*

 
 t�73 "�3 ""3 "7u� ?� 	�,��5����� 	� ��� t"�u ���
�

� ���
 � �����	� �	


	�,�
�
�� �����	�� ,����
�

� ����
�
�����5 � ����
��

�� ������
�
���

���� B∗ 
 ��������������5 � ��	
���� ,��
�
����5�� <�,��5���� �	������*

�
�5 � 	����� ��$��
 �����,
�
�� ��	�
�
��3 � ,��
�
����5 ���
�

� ���


�� �����	� ,����
�

� 

��	�	��
	������5 ��� �

��
��� 6$
��� �

��
��

��



����	�����-
� �	�$���������� ,��
�
����
 � �����	� ,����
�

� ν = 1/2

$��� ��	
-����5
�� ,
���

� ���
 � �����	��

B ��������
� ����
����
� �������� ��

���� ����	
,�-
� ��	�$�������

9����
������ �
�	�
��3 � �
����� $��%
�  ��5 ���
���5� ����	
,���
� ��

��

� �	
 ν < 1� &���
������ �,�
��$�����
�3 ����	��3 ��� ��������3 �����*

����

� ,� ��,

�
���

� �&'�3 �	
��$
� � ������

� � ��� �� ���

�
��

����� 
�����	
,���

�� 
�
 ����
�
� ����	
,���

�� ������

� $�%� �	


ν < 1 t�73 �.u� M
���

�� 	����� $�� �
���� � ����� �
���� ����
- t�7u

�	�$���,����� ����,��3 ��� � ��� �� ���

�
�� ����� ��
��
�� ������

�

�	
 ν = 2/3, 4/3, 2/5 
 8/5 
� ����	
,���
� �� ��

�3 � ���
�
� �� ν = 1/3 


5/33 � �� ��	� ����
��

� ���

�
��� ���� 
� ��$����� 	�,�
� ��	���$ � ���*


���5� ��

*����	
,���

�� ������

�� M���
�
� ����	
,���

�� ������

�3

������
� �
���

�� 	�������3 ��,

���� �	
 ν = 3/5, 7/5� B 	� ��� t��u $�*

���5
� 
,��
�
 ���
��-
�

�� ����$�� ������

� � ν = 2/33 
����$������5

,��
�
����5 �	�$��5
��� ���	��
���

� �� �����	���	� � 
����

�� ���*



�
�� ������ F��� 
� ��$�
� 
,��
�

� ����$�

� �


���� ���	��
���*



� �� ���� 
����
� ���� @
3 ���$������5
�3 �� ���
�

� ����	��
��� ����A�

'
�	�
� ���
��-

 �

��
� ,��
���� �� ���

�
��� ���� �	
 B > 4T 
 �	


B ∼ 3.3T 
� ��$���� �


��� ���� ,��
�
����
� B 	� ��� t"4u 
����5,������

��$� 
�� ����$ ��	�$���

� �
�	�

 ���
��-

 �	
 ν = 2/3 
 ν = 3/5� F���

� 
�	�%�
�3 ��� �	
 ��
� �����	�� ,����
�

� � ,��
�
����
 �
�	���
������

���
 �� ���� �	
 ��� 
�,������� �	
�
������ ���

�
�� ���� ����������

�


���� ?	
��� ������� ,��
�
����5 �	�$��5
��� ���	��
���

� ρxx �	


ν = 2/3 
���� ��	����	� $���
��� �


����3 � ,��
�
����5 �
�	�

 ���
��*

-

 �� �����	� ,����
�

� � ��	���
���
 ν = 2/3 ���,����5 
���
���

���

B�>� �	
�
������� ���� B > 2.1T ,��
�
����5 �
�	�

 ���
��-

 �

��
�

� 
����
�� gμB = 0.4μB $�� C1DE3 ��� ������������� �
�	�

 9����
�� ?���*

��

�� 	�,��5���� ���,����� 
� 
��
�
� ��,����� ��	���$� �
����� � �
,


�����	� ,����
�

� 2/3 
, ������

�3 
� ����	
,���

��� �� ��

�3 � ��

*

����	
,���

��� ?�$� 
�� 	�,��5����  ��
 ������
� 
 ����$�� 
,��	�

�

���

��������
 � 
����

�� ������ B 	� ��� t�!u ����$�� ���

��������


��




,������5 ��

���� ����	
,�-
� �	
 �����	� ,����
�

� ν = 2/3� F��� ��*

��,�
�3 ��� $����	
�� �
����� �������� ���
���5� ����	
,���

�� �� ��

�

�	
 ν = 2/33 � �	
 $��5
��>�� ����
��


 �����	� ,����
�

� ����	
,�*

-
� ���
5>����� 
,*,� ������

� � �
����� �����	�
�� � �	��
������%
��

��

��� 6�
��
�� ������

� �	
 ν = 1/33 ��*�
$
����3 ����$� ����	
,���*


� �� ��

� t�(u� 6$
���3 ���	��
����
� 
����$���

� �	�$���,����� ���
�

��

���� ��
�
��	�-

 �����
��	
�� ��, �%$�

� �	
 ���� �����	� ,����*


�

� t�7u�

+� ��$�

� $	� 
��� ,�	�$� ���,
����
-3 �$
��� 
, ����� �
�5
�� ����	*

%$�

� ��$��
 K���

�3 �����  � �	���

�5 �	
	�$� �&'�� #,���

� ���*

�� ���	��� �������
� �
�%����� 	� ��� ��� ���,
����
- � $	� 
�� ,�	�$��

�
�	�
� ���
��-

 � q 	�, ��
5>� ������ �
�����
-
��� t�4u� =���� �
��
,

 �� �	���$�
 � 	� ��� t"!u3 �$
���3 	�,��5���� �
>�
� �����*�
 � 
�$�%
�*

��
� 6 � 
,��	�

�� ���
�

� ,����
� ��
5>� ���	��
����
 �	�$���,�

��3

��� �	
�
�������5 
�
,����
��� ��
�

�  ����	�$��� ?	
 ���� ��
�

�  ��*

��	�$��  ��� ����
� � �	� �� ��$��
 t��u $�� ������ �
�����
-
���3 
 ����	*

>�

� 
� ��
�������5 $�� �
�	�

 ���
��-

� ?�*�
$
����3 
� ����$
�>

�

$�
5 ��� ��� 
�� � 	�,-�� 
�� ��$
��� $�� ��$� 
�� �����	
��
��� �
������

S�� �$
�� �����	
��
���5
�� ����$
��� �������� ����$
��3 ��
���

��


� �����	�

�� �
������ ���
����
� 

��	��	����	��@��� t(7u 
 �����
 �


��A� # � ������ �
����� 

��	��	����	� L� 	
*?�	� t)4u3 
 � ������ 

*

��	��	����	� 8���*��
$�	� t7)u 	�,
���5 ��, �����	�

�� ������3 
� 
	�*

���� �	
 �	���%$�


 ������
 ���
 	�,�
�
�� $�

�3 ��
�	��
	����� ��*

	5
	���

�� ���

�
��� ������ ��	�, 

��	��	�
-
�

�� ��
��	� B ������

$	� 
��� ,�	�$� ���,
����
- �%
$����� ��	
�$
�
���5 Φ∗ = e/e∗Φ0 = Φ0/ν3

��	���$�
��� ���5�� ���
 �
��	
 

��	��	�
-
�

��� ��
��	� �����	 ,����*


�

� ν − 1/3 

��	
�
��
� B�� �� ����	�3 ���$��� 	�,�
���5 	� ��
� 	�%
*

�� 

��	��	����	�� B �	�����>�� ������ ����	����5
��� 	�%
�� :�	�
���*

F��� t)�u3 �����	�
*�����	�

�� �,�
��$�����
� 
� ��
��� 
� 

��	��	�
-
*

�

�� ��	�

�� #
��	��	�
-
�

�� ��	
�$ ������������� 
,��
�

� ������

Φ = BS ��	�, ��
��	 �����$5� S 
� �$

 ���
� Φ03 �$� S �	���
����
 
�

�"



,��
�
� �� ���

�
��� ���� B� B �	��
������%
�� ������ �
�5
��� ����
��*

����� �,�
��$�����
� Φ ,��
�
� ���5�� �� �
��� ����
- �
��	
 

��	��	�
*

-
�

��� ��
��	� t)�u� 6$
���3 
 � 

��	��	�
-
�

�� ����$�� ���5 �	� ��*

��3 ���,�

�� � ����
����
�
 ��������
 
,*,� ��
��� ,�	�$� 
 
���
���
 �

��	�$���


 �����$
 � 	�%
�� :�	�
���*F���3 ,��	�$
���
� �$
�,
��
��

�	������� 	�,��5����� t�4.u�

�	� 
�� ,�	�$ ���%� ��	�$������ � �����	
��
��� t�4"3 )"u �� $	� �����

>��� t�4)u� B 	� ��� t)"u ,�	�$ ��	�$������ �� �������-
�� ���� �����
 ��*

	�, ��%�

� * ���
����� ��
���� t�"u � � 	�,-� � 	�%
�� $	� 
��� ���
������

������� ����� �	
 ν = 1/3� ?	�-���� ��

��
	���

� �	�
���$
�
 ��%$�

 �	����
 ��%�

� � � 	�,-�� +��
���
 � ���� �$
���	
�� �
����� $��%
�


���5 ,�	�$ e/33 �
����$���

�� 
, � H���3 � $	� ���� >�� ��
� ��, �%*

$�

� 
���  � �����
����
� �
$ � ,�	�$�� �����	�
�3 ,���
�

�� 
� e/3�

+� ��$�

� ������ ����$�

� � �����	
��
�� ���,����� � ���5,� ��������*

��

� K���

����
� ���,
����
- � $	� 
�� ,�	�$��3 ��	�
����
� ����

	 � � 0����
* �����1
�� � �������
* ������� � 1��1����������
�

�������
� 1
��

&�� 
,����
�3 � ���,
�����
�� � ��	��
$
����	
�� ���

�
�� ���� ,�	�%�
*


�� ����
-� $�
%���� �� -
����	�

�� �	 
���� ?	
 �	
��%�


 �����	
*

������� ���� � ��������
 � 	�,-� � $����
�

� � ���

�
���3 
� �	������

$�
%�

� 
����$������� $	��� � 
��	����


3 ��	��
$
����	
�� ��	���
*


�� ������ +��
�
� �	�� � ����� ������ �	
��$
� � 

�


�
��� $�
%�

�

�$��5 �	�

-�; ,�	�%�

�� ����
-�3 	������>
�5 
� �	�� �$

 	�,3 � �,�*

���5
� �����
���� � 

� 
� ���$����� �
���� =��
� � 	�,��3 �	
 ������*




 ���

�
��� ���� � $����	
�� �
����� �����	�
�� �	�
���$
� ��	���$ ��

�	����

��
��� �	�����  ���
��
����
� �����	�
�� � 	���	���	�
�

� ��

���,
�����
����
� ������
� �	 
���3 ��� ��%
� 
� ��$��53 
��	
��	3 �

�����	
��
��� �� ����	��
�� �����
	���� ����� ���

�
�� ������ # � ��*

����� t�4(u3 
 � $�������
� �
���� �����	���$

�� t�4�u ��%
� ,�	��
��	
	�*

���5 	�,�
�
�
�� �
�
3 �������������
� ������3 ���$� 
� 	������


 ��%$�

�)





%����	�� 
 ��������	�� ����$������� -���� �
��� $
����	�� -
����	�
*


�� �	 
��� �	��
� 
����$
�� �	
��	�� ����� ���%
�5 �����	
��
�� ��

�
,���
,�-

 � �����5� ����
�*�
������ �
�	������ t��43 ���u�

&��  ��� ������
� 	�
��3 � H��
�� $
���
��5
�� �	���$
����5 � 	�%
��

���
������ ������� ����� �����
�
-
��5
� ����� I	��

 K�
$�� 
� �	���

� 	�,-� ,��
 ����� ���	� 
,*,� ����
-
��� �	�

-� ?	
 ��$H��� 
� �	���
5

L�	�
 	������%�

�� 

%� �	��
�� K�
$�� � �
,
 �	�� � 	�,����� �	��*

��� ������

� t))3 )(u� B��
���� ��
�-

 ��
� ������

� �����
,���
� ��,*

�� �	�

-� �	���$

�� 
� $�

� ��	�$�� -
����	�

��� 	�$
���� B�,

����

���	��3 ����� �
 ��� � 	�%
�� ���
������ ������� ����� �� ����� � 	�,*

-� 
�
 ���5�� �$��5 ��� �	���� ���� 	�,��5���� 	�


� �����	
��
��� t!u3

��,����53 ������������
�5 � �	�$������

�� � ����3 �������� �� ����� � *

	�,-�3 ��
 �	�$������

�  ��
 ��$��	�
��� ���
�

� � ��$��
 �	����� ��*

���� '�� ��$��5  ��� �	�$��%�
� 8�F���
��	��3 ����	�� � H�$


� 
$��

F�#�i��5��	

� t))u � ����
����
� ������

�� 
 ��	���
,� <�K�
$���	� t)!u�

B ���� ��$��
 
��
�
� $������
,���

�� ������

� � � H��� � 	�,-� 
� ��*

������

�3 � ,�$��� � 	���	�$���


 ����� ���$
��� � �$
���	
�� ,�$��� �

�����
-
�
��� �	���%$�

� 
 ��	�%�

�3 �������������
� ���� � 	��
���

	�����

� ��%$� �	���
 
� �	��
� L�	�
� J�����
� 	� ��� t)!u �	���$
*

����5 �$
���	
�� �
�����
��5
�� �	������
3 ��$�	%���� � ����5 -�
�	��

��	����� 	�����

� � ��	�$���

�� �����
-
�
��� �	���%$�

�3 ��	�$���*

���� ����$�� ��%$��� ��
���3 �	���	-
�
��5
� ��� 

�-

 ��
$���
���5*


�� ��
���
� e2/h 
 ,��
�
� �� �����
-
�
�� �	���%$�

�� 8�F���
��	 ��*

������� ���,��5 ���
����

� K�
$�� � ���
����

�� ���	��
���

� �$
�*

��	
��� ��
���� F��� ����,�
�3 ��� �	
 ����$�


 �
����� 
, 	��
����
� �

	�%
�� ���
����� ����������� ���	��
���

� �	�������
� ��� ��%��  ��5

��	���5
� ��	�%�
 ���5�� ��	�, 	�,
���5 �����	��
�����
-
���� �	�����

������

� �	
 ����� ��	����� 	�����

� � �����5� ���	
-� �����
-
�
���

�	���%$�

�� B ���� ������ �	����� ������

� ����� 
�,����� �	�����


��
����
� B ����� �	����� ��
��� 	�����

� 
�,�$ 
���,��%
�; $�� �����

�����	�
 $��%�
 
,��

�5 
��	����

� 
����5��3 �� ���5 ��	���
 
� �	��
*

�!



������%
�� ���	�
� � 	�,-�3 � 	������5�� � � H�� �����	�
 
� ��%��3 ��� ���

��� ������

� � � H��� ,�
���� B�,�	�����5 � ���	��� � 	���	�$���


 ��*

��� � � 	�,-� � 	�%
�� ���
������ ������� �����3 ���$��� �����
�53 ��� 
�

�	���
�� 	���
,����� �	���%����
�� ��	
�
� t)7u� 9������� �	����� ��
�*

�� 	������	
���� ��� ������
� �	 
�� � ��	�

�
������ ����
-
���3 ����*

	�� 	�,�� 
,��
����� 
� ���>�� � ���

�
�� $�

� lB = (�c/eB)1/23 �$
���

�  ��5>

���� � 	�,-�� �	��
�5 ����
-
��� 
� �	�� �����
� 
 ����������

	������

�3 
��
���  ��5>�� ���

�
�� $�

�� &�� ����,�
� � 	� ��� t(�u3 �

	�%
�� &'� � �����	�

�� �
����� � ����
�� �	����� ����
-
���� ��,

*

���� ������
 �%
������ 
 
��%
������ �����	�

�� %
$����
 � 	�,��5����

N�	
������

�O �	��
� K�
$�� � �	��
� �
�
������� ����
-
���� J%
���*

��� � ����5 ������������� ��$H��� �	��
� K�
$�� 
� �	���
5 L�	�
� B ����

� ����
 ����
���5 ������

� ���
��3 � �	����� ����
-
�� ��	�

	����� ����*

�	�
��
� B � ����
 
��%
������ %
$����
 �	����� ����
-
�� ��	�

	�����

��� �3 � 
� �	��
� �����	��
�����
-
��� ���	������� ���5� ?�$� 
�� ��	*

�

� $��%
�  ��5 
 � ������ $	� 
��� ���
������ ������� ������ =����

��	�

� � 	�%
�� �&'�  ��� 	������	�
� � 	� ��� t(!u�

B �$
���	
�� ������3 �	
��	�� ����	��� �������� �	����� ��
��3 ��%*

�����	�

�� �,�
��$�����
� ��	$

��5
�� � 	�,�� ��
��� 
� �������� �
*

������ 6$
���	
�� �
����� �,�
��$��������
� �����	�
��3 ��� �� ����	�3


��5,� ��
���5 � ��$��
 ��	�
*%
$����
� ��� ��
� -����  ��� ���-
��5
�

	�,	� ���
� ��$��5 =���
��
*K���

%�	�3 � ����	�� �����	 ��%
� �

��	
*

,����5 � ��	���
���
 �� 	�

�� ����
3 � ���
�5��

�
 �
����� $
���
��
,�*

���5 � ��	�

��  �,�*����
-� '����
��	
��
 ��, �%$�

��
 ����� %
$����


@%
$����
 K���

%�	�A �������� ���
� �����	�

�� ����
���
 * ���,��
��

B ������ &'� ���
� ��, �%$�

� 
�,����� �	�����
 ���
������,��
��


*  ���������
 ��, �%$�

��
3 ����	�� ����� 	���	���	�
��5 ���5�� �$��5

�	�� � 	�,-� @��	��
$
����	
� �	�$
�
�� ����
-
��� 
� �	��A� i���
�� ���*

 �

���5 �

����
�
 $�
%�

� �����	�
�� � �	����� ��
��� ,���������� �

��$����


 	�����

� 
�,�$� B ����� �$
���	
�� �
�����3 
�,������� �
*

	��5
��3 	�,	�>�
� ���5�� �$
� 
��	����

� 
����5�� @,
�� �
	��5
���
A�

�7



B 	���5
�� �
����� ��	�

� ��%��  ��5 ���%
��� B 	�%
�� &'� � �����	�
*


�� �
����� � ����
�� �	����� ����
-
���� ��,

���� ������
 �%
������


 
��%
������ �����	�

�� %
$����
 � 	�,��5���� N�	
������

�O �	��
�

K�
$�� � �	��
� �
�
������� ����
-
���� J%
������ � ����5 �����������*

�� ��$H��� �	��
� K�
$�� 
� �	���
5 L�	�
� B ���� � ����
 ����
���5 ��*

����

� ���
��3 � �	����� ����
-
�� ��	�

	����� �����	�
��
� B � ����



��%
������ %
$����
 �	����� ����
-
�� ��	�

	����� ��� �3 � 
� �	��
�

�����	��
�����
-
��� ���	������� ���5� ?�$� 
�� ��	�

� �%
$����� 
 �

������ $	� 
��� ���
������ ������� ����� @���3 
��	
��	3 	� ��� t(!uA�

��� ��	��
����
�� ���
��������
� ����� ���
�����
 ���

���


B $��5
��>��  �$�� 
����5,����5�� ��
��
� ���
������ �����
��� ��
�����


 ���
����� ����
3 ����	�� >
	��� 
����5,����� � �������� �$
������	�
*


��� $������	�� B��$�� ��	�$���

��

��������� ��	
	��� ������� �	�$�������� �� �� ��%�

� � $��*

��	
�� �����	�

�� ��,� 	�,��	�� ��	�$�� $�

� ���
� �����	�
�3 �	�*

��$
����5 ����	��� ���
������ � �$


-�� 2e2/h @e w ,�	�$ �����	�
�3 h w

������

�� ?��
��A�

B��	��� ���
����

� �	���$
����
 ��%�

� � $����	
�� �����	�

��

�
������ �����	
��
���5
� 
� ��$����5 �	
 

,�
� �����	���	�� � 	� �*

��� t7�3 .4u� =��	
� ����� ����

�  ��� 	�,	� ���
� � 	� ��� t�"u 
 ��	�>�

��������������5 � �����	
��
���� <������	
� �	����� ��$��5 �$
� ��
��*

����� �	�
���	�� ��	�, ��%�

�3 ��,$�

��� 	�������

�� ,����	��3 ���$
*


���
� $�� � ����
 �e*�����	�

��� ��,�3 � ����
�� 
,��
�

�� ��	�

�
*

������� ����
-
��� t�)u� B�	5
	���

�� ,����	
��� 
��	�%�

� Vg ��%
�

��
��5 ����%�

� �	��
� L�	�
 EF � ��%�


3 � �	
��%�

� ��
����� 
�*

�	�%�

� V ��%$�  �	����
 �e*��,� ��,������ �$�
���5 
� �����	��
�����
*

-
��� μR 
 μL ��
��
���5
� EF � F�, ��	�

��

� � �
���
  �$�� ��
���53

��� �	���
5 L�	�
 � ��%�


 ����$� 
���$
��� ����	�$

� ��%$� μR 
 μL�

J ������ ��	�%$�

� �� ��

� �	
 
������ �����	���	� ��� ��	�, ��%�*

�.





� ,�$����� ��	����� J = 2e/h
∑

n

∫ EF +eV/2

EF−eV/2
Trn(E)dE3 �$� ����
	���

�

��$���� �� ���� ,����
�

�� ��$,�
�� n� ?	�,	��
���5 Trn(E) ��	���
�
*

	����� ��
�-
�� ���
���$� Trn(E) = θ(E − En)� =��$� ����� �	�� 	�,���*



� ��	�%�

� $�� ����3 �����
�; J = (2e2/h)nV 
�
 $�� �	���$
����


G ≡ dJ/dV = (2e2/h)n� =��
� � 	�,��3 ��	���$� ��%$� ����� 
� ,��
�
��*

��
 G(Vg) ��,

���� �	
 �	���%$�


 μR@μLA ��	�, $�
5� ��$,�
 	�,��	
���

���
����

��

��������� ��	�� � �����	���$

�� t.�3 .�u w � ����53 ��	�

��

�� ��

���� �	�� 
��	����

��3 �	
 ���� ��	�

��

� 
��
� ���
����� ��	����	;

$��%
� ��������

� ��
��5�� ����
���5 ������

� ,�	�%�

�� ����
- ��

�	��
�

� � ����
���5� ������

� � ��	�%����� ����	
���� 6�� �

���


� ����
���
 ������

� �	��������� �	
 

,�
� �����	���	��3 ���$� �	�$
��

	������

� ��%$� �	��
��
 	�,��	
��� ���
����

� ��	������  ��5 ��
5>�

kBT 3 �$� kB w ������

�� F��5-��
�� B ���
����� ������ ������ 	�,��	�

$��


	��� ����
������ �
�	�
� ������
��

��

	 	 � 2�����
����
� 1
������� � +��1��������� 34567��1�

'����	�
*�����	�

�� �,�
��$�����
� � 

,��	�,��	
�� �
������ ����� 
�*

	��� ��	�$������� 	��5 
 �������� ��%
�� �	�$����� 
����$���

�� ���

���� -��
 �����  ��5 �	
��
�
� 	�,�
�
�� �	�
���	�
�� ����$�� 6

 ����*

����3 
��	
��	3 ��	�$���

� �	���

 $���,
	���
 t.�u � 

��	��	�
-
�
*


�� �����	
��
���� �	���� ��$��$ ��
���
 
� 
,��	�


 �������� ������*



� ��%$� 
,��
	���

��
 �����	�

��
 �
������
 � �����	
��
��� �
��

N������

�O @/012*�
��A� 6 H��
�

� 	�,��5����� ���
� �����	
��
��� � ��*


� ���,����� � ����
����
� �,�
��$�����
��3 �$
��� 
 �����	�
*�����	�

��

�,�
��$�����
� ���	�$����� �����
����
� ��
�
�� ��%��  ��5 ��%
��� ?�	*

��� �����	
��
�� �� 
,���

� �������� ������

�  ��
 	���
,���
� 
�

��	����	�� C1@DgADE3 �	�$��������
� �� �� $�� ��	�����5
�� ��������


$����	
��� ��,�3 	�,$���

�� ��

��5
��  �	5�	�� t��u� #$�� �������� � 
�*

���5,���


 �$
�� �e ��������
 � �������� 
����

�� 
 
,���


 ��
�

�

$�
%�

� �����	�
�� ���� ��������
 
� ����$
��� ��
%��
��� ,�	�$� �

�(



��������
 �e ��,� $�������� ����
����
�
 �
���
 
� 
��
���
 ,�	�$� �  �
,*

��%���� ��������
 
 ��,����� ��� ������

� ��	�$���� 
����5�� � �����$*


��� '�� ����

�3 
,����
�� ��� ����
������ ������

� @{[^g[dn /012A3 ��%$�

�	���	�
����

� 
,��
	���

��
3 
�  �
,�� 	������%�

��
 �����	�

�*

�
 �
������
 
���$
��� � -�
�	� �

��

� �����$

� 
�����5�� ���� #
��*

	�� � ����
������� ������

� ��,

���� ����
�� � 	�,�� 
, ����3 ��� �
�

�	�$������ �

���5
�� ��,��%
���5 
,���

� �����	�
*�����	�

��� �,�
*

��$�����
� � 

,��	�,��	
�� �
������ 
� ��
��� 
,��	�

� �����
-
�
���

��	�
���� =��$� %�  ��� � 
�	�%�
�3 ��� � ���
� �
������ ��,��%
� 
� ���5*

�� �	���� ����
������ �,�
��$�����
�3 
� 
 �,�
��$�����
� ,� ���� � ��
�

��
�
��
 t.(u� ?�,$
�� ����
������ ������

� 
,������5 � ���
����� �	���*

����� 
 � ������
�	
�� ��	����	�� t.7u� J 	�,�
�
�� 
�
��
���	��

 �����

��,��%
�� 
����$���

� �����	�
*�����	�

��� �,�
��$�����
� � ������	
*

����
  ���� ���%
�� 
�
���	����	�� � 
����5,���

�� ���
����� ����� 


���
����� ��
������ � �������� $����

���5
�� 

��	���
���� B 	� ��� t(4u

 ��
 �	�$��%�
� 
�	��
����
�� �����	
��
��3 � ����	�� � �������� 
����*



�� ��, �%$�

� 
 $������	� 
����5,����
�5 ���
����� ��
������ #$��

�������� � ���3 ��� � 
� 
�����	�� 	������


 $	�� �� $	��� ��,$��5 $��


,��
	���

�� -��
; ��	�������� 
 $�����
	������ B ��	�������� -��


� �����5� ����
�
� �	�,	��
��� ���
������ ��
����� ��,$����� 
�	��
����*


�� �
����� � 
, ����
�� �
�	�
��� ?	
 ���� ����5 �
�	�

 ��%�� ��	�$��5��

$�����
	����� -��
� =�� ����� ��%
� ,�	��
��	
	����5 �
�
�� � $�����
*

	�����3 ���� 	��
����
�� �
������ ������
	���
� �����
��� ���  ��5 $	�*

��� ���
����� ��
����3 �$

��
�� 
�
 $���
�� ���
����� ������ ?	
 ����

��
�����53 ��� ��	�$��� �
�	�

 �������������5 ����
��
3 ��� � 	� ���� ��


����$���

� $	� ����� >��� t773 ��u3 
�	��
����
��
 ��
�
��
 t743 7�u 
�


� �����5� ����
������� �,�
��$�����
��

+�,��
�
�� �� �
�� �,�
��$�����
�3 
,��
�

� �
�	�

 
 
����5�� ����*

�	�
� �$�������	��� ,���
�� ���	�
�

�3 ����	�� ����� 
���%
�5 ��	�

*

��

� 
� �������������
� ����

,� ��	�$��
 �
�	�

� '�
 ��	�

��

� ��*

������ 
�
 ���� ��%
��
 $�� ��� �$
� $�
%��
��� �����	�
��� ��� ����*

��




������� �,�
��$�����
�3 
��	
��	3 ,���
 ���	�
�

� 
����5�� ��	�$�����

����%
���5
�� ,
�� ����
������� ���	��
���

� ��%$� �
����
 �$
���	*


��
 @�eA ���
�����
 �	��������
 
 ��	�����5
��
 �����
 $����	
��

�����	�

�� �
���� � $�������
�� �
������� #������

�z�������

� ���
*

��� �
�	�

 
, ��	�%����� �	�$� $����	
��
 �����	�
��
 ��,��%
� �	


�����

3 ��� ���	���5 ��������������� ����
-� @����
� 
�
 �����
�������

��
�
�A ��
5>�3 ��� ���	���5 L�	�
 �����	�
��� '�� �����
� �����
�����

���5�� $�� �����
����
� ��
�
��  ����$�	� ����� ���	���
 ,���� @�� �	��*


�

� � vF � �
�
�
�� $����	
�� �
������A� 9���
� ���	�
�

� 	�,	�>���

�	�-���� 	�����

� � ������
�	
�� ��	����	�� � 
������

��z�������

��

�����
����
� ��
�
�� � 
����5��� $� 2kF 
 ��������������� �
�	�
�� $�

2�kFvs3 �$� kF 
 � * 
����5� L�	�
 
 ������

�� ?��
�� �����������

�� ?	



�	�>�


 ,���
� ���	�
�

� 
����5�� ��	��
� ��	�

��

� $�� ���,�

��

�����	�
�� 
� ����������� =��
� � 	�,��3 �����	�
 � ���
����� ����� ��%��

�,�
��$���������5 ��� � �
�	����
����
 ����
��
3 ��� 
 �����
����
�


��
�
��
 t7.u�

	 	 	 ������
�7+�����
��
�8 +�����
�7,
�
��
� �����
��*�����8

������� �������
��� � ���
�
� �
�������� 

?	
 ���
5>�


 	�,��	
���
 �
����� ,���
� ���	�
�

� 
����5�� 
 �
�	�




����$����� ���  ��5>� ��	�

��

� 
� �	�-���� 	�����

�� B 	�,��5����3

�����	�
*�����	�

�� �,�
��$�����
� � �$
���	
�� �
����� 
��5,� ��
���5

� ��$��
 %
$����
 L�	�
� ��� �����3 ��� �%� ����	
���53  ��� 	�,	� ���*


� ��$��5 =���
��
*K���

%�	�3 � ����	�� �����
��	
��
 ��, �%$�

��


�������� ���
� ����
���
 @�������
�
�� ���,��

�� ��, �%$�

�A *  �,�*


� t.)3 .!u� 6$
���3 �	����� ��
��� � �&'� �	�$�������� �� �� ��$��5
��

������� B �&'� �	����� ��, �%$�

� �
	��5
� 
 $�
%���� ���5�� � �$
��


��	����


 �$��5 �	��� ?������ � � 	�,-�� ������	

 ����������� ����
��


� �	��
����%��
� �	��� 	���
,����� �	��
������%
� 
��	����

�� �	�*

���� ��
��� @����� 
 �	���� ��	�
�

�� ��$�A� S��
 	������

� ��%$�

��
����
 ���
��3 �� �	���� 
 ����� ��	�
�
� 
� �,�
��$�������� ��%$�

"4



�� ��3 � �	����� ��, �%$�

� ���
����
�� �$
���	
�� 
��,�
��$�������*

��� ��	�
*%
$����
 t!!u� B $	� 
�� ���
����� ������� ����� 
�
 �	
 ��*

��� 	������


 ��%$� ��
����
 �&'� �	����� ��, �%$�

�3 ��� ��������3

�������� �$
���	
�� �,�
��$���������� %
$����5� K���

%�	�� B ������

�$

������ �
	��5
���
 �	����� ��
���� ,� ������� ������

� ��%��  ��5

���������
�
 
��

��
�� ,���
 $
���	�

 t..u3 
 �  ����
��
�� �
����� @
�



� 
������ �������A ������� ������

� ������������ ?	
 �

��
�� ,���
�

$
���	�

 � ������ �	��
������%
� 
��	����

�� ��
���� �	�-���� 	�����*



� 
� �	
��$�� � ������

�� <��5 
���	��
� �	�-����� �	��������� � ��	�*

$��� �
�	�

 ��%$� 
�	��
����
��
 �
	��5
��
 �
������
3 ��� ��$$�����

�	����� 
,��	�

� t!�u� B 
�$��

� 	� ���� 
����$������5 ��	�$��� �
�	�



��%$� ���,
�$
���	
��
 ��
����
3 	���
,���

��
 � 	�%
�� -����
���
*


��� ������� ����� �	
 �����	� ,����
�

� ν = 2 t!43 !�u� 6$

 
, �	��*

��� ��
���� ����$
��� 
, ������

� 	��
����
�3 � � $	����3 ����$
�� ��
���

��� %� �
	��5
���
3 
,��	����5 	�,��5�
	����� 
�	��
����
�� 	���	�$���*



� �����	�
��� +�	��
����
���5 �$
��� �	������ ��
��� ��,$������5 ,� ����

�,�
��$�����
� $��� �	����� ��
���� � 	�,�
�
��
 �	��
��
 �
�
�����*

�� ����
-
��� ��	�, ����
�
� �	��������
� ���
����� ��
����� &��
�����

����� 
����5,������5 � �������� �
�	���
������� �����	����	�3 ��,�������*

�� 
����$����5 	���	�$���

� �
�	�

 �����	�
�� 
,
����5
� 	��
����
���

��
���� ?	
 ���� ��	�$��� �
�	�

3 ��� ��������3 �������������5  �, ��	�*


��� ����
- ,� ���� $��5
�$����������� ����
������� �,�
��$�����
�� 6$*


���3 ��	
�� 	�����

� ��%$� �����	�
��
 ��
��	����

�� �	����� ��
����

,��	���
� ,���
�� ���	�
�

� 
����5�� ,� 
������

�� �������3 ���$� $
�*

��	�

 ��
���� �$

������ +��	
��	3 ������ ����
������� ������

� ��%*

$� ���
�����
 �	��������
 
��
� 	�,�
�
�
�� ��	����	 
 ����
����
3 ��*

�$� �,�
��$��������
� �$
���	
�� �
����� 
$�
�
�
� t.7u� 6$
���3 ,��	��


� ��	
�� �	�-���� 	�����

� �

������ � ��� ������3 ���
 � �
����� 
��*

����  ����	�$�� t!�u� J��$�� 	� ��� t!�u3 	������	
� $�� �	����� ��
��� �

�

��
�� ,���
�� $
���	�

 E(k) = �vik @vi w �	������� ���	���5 �����	�*


�� 
� �	�� � i*� ��
���3 i = 1; 2A 
� 
�����	�� 	������


 $	�� �� $	���3 �

"�



����	�� ���
 ����� � �$
�� 
��	����


� B ������ ����
������� �,�
��$��*

���
�  �, 	�����

� 
�,�$ �� ,���
� ���	�
�

� �
�	�

 � ������ �

��
��

$
���	�

 v1k1 + v2k2 = v1k
′
1 + v2k

′
23 �$� k1, k2 w 
����5
�� 
����5�� ����*

�	�
��3 k′1, k
′
2 w ��
��
�� 
����5��� B �������
���
 � ,���
�� ���	�
�

�


����5�� |k1 − k′1 + k2 − k′2| = 0 ��	
�� 	�����

� � �
���� �
����� ��,��%
�

�	
 v1 = v2� +��
�
�  ����	�$��3 ��	����	
,��������3 
��	
��	3 ��		���*

-
�

�� $�

�� l3 �

���� ,��	�� 
� ��	
�� 	�����

� �	
 v1 	= v2� B �
*

����� ���������� 
���	�$���

���5 � 
����5�� ��	�$�� 1/l3 ��	�

�
������

���
� ��	�$������� �����	�
��
 �$
��� ��
��� �����	�
�� $	����� �
�	�



ΔE = (�/l)v1v2/(v1 − v2)� B ������ �	��
������%
� 
��	����

�� �	�����

��
���� ��	�

��

� 
� 	�����

� ���  ���� ��	5�,
�� =�� ��	
�� 	�����

� �

�
���� �
����� ��	��� ,��	���
�� B ���� ������ $��%
� $��


	����5 �	��*

����
�
�� �	�-����3 � ��	�$��� �
�	�

 ��,��%
� �	
 �����

 
��

��
���

,���
� $
���	�

 t!"u� ?�	
�� 	�����

� ��%$� �	��
������%
� 
��	����
*


��
 �	�����
 ��
����
3 ���  �$�� ����,�
� � ����� N'
�	���
������ 	����*

��-
� ��%$� �	�����
 ��
����
O3 ��%�� �����������5�� � �	�,
�� �
�����3

���$� 	��5  ����	�$�� ��������

�� =��
� � 	�,��3 
,���

� �
�	���
������

	������-

 � �
����� �	��
������%
� 
��	����

�� �	����� ��
���� ��,��*

���� 
��	���� 
����$����5 	��5  ����	�$�� 
 ��	
�� 
���	��
� �	�-������

J��$��� �����
�53 ��� ����  ��5>

���� 	� �� �� 
����$���

� �
�	��*

�
������ 	������-

 � �$
���	
�� �
������ ������
	���
� 
� �
,
�� ����*


������� 	�����

�3 �	
 ����	��


 ���	��
����
� ��$���� ,������� 
�
�	
*

	����� �������� ������� �
,
�
 ���	$��� ����3 
��	
��	3 �,�
��$�����
�

�����	�
�� � ��
�
��
3 ���� 
� ����
$
� 
�����5�� ����� �	�$����%�

�

��	��$�
� �	
 ��
��


 ����

,��� �
�	���
������ 	������-

 
� �	��� B�*

� �� ����	�3 ,��	�� ��	
�� �	�-����� 	�����

� � �
���� �
����� �	��
��*


��	����

�� ��
���� ��	���$�
� 
 $�� �,�
��$�����
� ���	�$����� � ��
�

�����
����
�
 ��
�
��
3 �	
 
������


z�������


 ����	�� ���	�
�����

�	�$��5
�� 
����5�� B ����� N<����� 
 �	��
�

� ���
���
 ����
�������


 �����	�
*��
�

��� 	�����

�O 	������	�
� � � ����

,�� 	�����

� �


�
$���5
�� �
����� �	��
������%
� 
��	����

�� �	����� ��
���� �  ��*

"�



��	�$��� 
 �	���$�
� �	��
�

� ��	�$������� �	
 
���	��
� ��	
�� �	�-��*

��� ���
���
�

""



�  �����
	��
!���
� 
�����	
�

 �� !����	
��
���"
�� ����
����

#,��	�

� �	���$
�
�5 � �	
������ 	�����	�

� N|}\[0/ Usl*)44O3 ��,��*

������ $���
�
��5 

,�
� �����	���	� � >
	���� 

��	���� �� "4 �& $�

��� &� <� ��� ����
���
 ������ �
�� ��
���
� 
� ����$�


 ��,���� $
��	��*

�� ����
 3He/4He t��"u� =����	���	� ∼1K ��%
� $���
�5 �������� ��	��


,����� 4HeG �����	���	�3 ������������ $�����
 �
��
���5�

3 $���
������

	�����	�

�� 
,����� 3He � 4He� '����� ����%$�

� ��,

���� ,� ���� 
�*

��	�

� � �	�

-� 	�,$��� ��, ������ 3He� +
%� �����	���	� 	������

�

%
$��� ����5 
,������ 3He 
 4He 	�,$������� 
� $�� �����
�
��3 � �$
��


, ����	�� ��>� ��$�	%�

� 3He3 � � $	���� 4He� ?���
���5 ��	��� ��,�

��
5>�3 
 �
� 
���$
��� ���	��3 �

,� 
���$
��� 4He � 	�����	�

�� � 
��
3He� J��-
�
�	
�� 	�%
� 	�����	�

� ��$$�	%
������ �������� 3He3 � ��*

��	��� $����

� 
�����

�� ��	�� �	
��	
� � �444 	�, ��>� ��� � 4He3


������ 
, ���-
��5
�� ����	�� I���
���� 	� ����� � 
��	�	��
�� -
���3


 ������

�� ��, ��,�	������� ��	�, �


� ��
$�
��-

 � 	��
� � ����	�

	�����	�

�� F�,���� @�


���5
��A �����	���	� ����
���
 ���������� �	
*

 �
,
���5
� "4 �&� B ������ 
�� ��$
����
 ����>�

� �����	���	� @�����5

$� U ~ ��� &A �	�
,��$
��� �	
 �����
 
��	�������3 ����
����

��� � ����	�

	�����	�

��

8��

�
�� ���� ��,$����� ���	��	���$��
� ����
�
$��3 
���$��
��� �
��*

	
 �	
������ � ��

� � %
$�
� 4He� 8���
���5
�� $���
%
��� ���� �) =����

�	
 �����	���	� 4.2 K 
 �7�! =���� �	
 T = 2.2 K ��$ �������� ��	�� ���
��

J���� 
,��	
���5
�� -��
 
,� 	�%�
� 
� 	
��
�� "� ��� ��
��

� �
�*


��� 
 ��$���

� ��� �� >��� 
����5,������ >
	��������
�� ��
�
���5 �

�

�	�

�� $������	�� s[X�*YZ� 8�%$� ������
����
� ,����	��3 
�����
*


�� 
� ����	�
���5 � 	�,-�3 
 $����	
�� ��,�� �	
���$������5 ������
*


�� 
��	�%�

�3 ����	�� ��$��
	������5 ��	���

�� �
�
���� 

,��� ��*

����� @4�4!w�� i-A3 ��$������� � ����$� ��
�	���	� s[X�*YZ� ��	�, $��
���5

1/100� :���
��$� ��$��
	��>��� �
�
��� ���� 
 $�� � 	�,-�� �� 
 �� 	��*

")



+

|

~

C

R

Rf

Cf

Вход
Lock-in

Делитель

Lock-in

Электрометр

Образец

<
�� "; J���� 
,��	�

�


� ��! �B3 ��� ������������� ��$���-

 �����	�

�� ����
���
 9×108��−2� S�

���
�

� ��$ 
	����5 �����	
��
���5
� 
 ��	�$������5 �

��
���5� ����
*

�� @����
��$� ��$���-

 ���� �� �	��
�

� � �
�
�
�� >
	

�� �


�����

� ������
 C(Vg) ∼�! �BA� ��� � 	�,-� �" ����
��$� ��$���-

 	��
� � �B @

��������������� ��$���-
� ����
���
 6.5 × 108��−2A� B�	5
	�� ������

��


��	�%�

� 
� ,����	�3 �� ��
��
 ��
-�
�	�-
� �����	�
�� � $����	
��

����� J �����5� �	�� 	�,������� N���*
��	�%�

�O 
 s[X�*YZ� 
,��	��
�5 �

������� ���
���5� @∼10−16 AA �

��� 
 $�����
���5
�� �����
�
�� ����� B



,��������
�� �	�$��� �

��� �����
�
�� ���� �	���	-
�
��5
� ������


C3 � $�����
���5
�� �����
�
�� �	�
� 	�%
�� ����� B ��
� �����
�� 
,��*

	�

� 
� 
���%����� 	�,
��
�
��
 ��������
 ����	��5
��� �	�
���	��3 


�
����� 
���$
��� � ������


 ��	��$

��
������� 	��
����
� t��u� J
�
�� �

�	�� 	�,������� ��$������ 
� ���$ s[X�*YZ�� 6�������
� ���� �����
 ,����	�

��
�	��
	������5 �� ����,�

�� �����	����	� @���	
�� "A�

"!



 �� #$	����

��� ��,$�

� $����	
�� �����	�

�� �
����� 
�%
� ��	�

�
�5 $�
%�

�

�����	�
�� � �����*�
 � 
��	����


� +� �	���
�� 
����5,����� �
�����

������*$
�����	
�*�����	���$

� 
 ����	���	����	�� i���	���	���$ ����*

���� 
�	��
��

�� ���� �$
��� �����	���$

�� 
� ���� $	����� ����$��

��������	
�*�������� ��
����

3 ����	�� ��,������ ��
�	��
	����5 �	�*

-��� 	���� $� �����	
� ���$�
� ������ 8� 
����5,����
 ����	���	����	�

C1DEzDgxC11−xDE3 x = 0.336� +�>
 � 	�,-� ��	���
� � +�-
�
��5
�� K� �*

	���	

 UD{�*P_fl3 ��=	
���3 #���
�� 6

 ���	��
� ���$���
� � 	�,��;


� ��$��%�� 
, �	��

$� ����
� 
��������� ���� ���
	���

��� �	��

��

C1DE3 ����	�� �������� ��	�>� �	���$��
� $�%� �	
 

,�
� �����	���	��


 
�	��� 	��5 ,�$
��� ,����	�� +� 
��� 
�
��
��� ������� ���� �	��

$�

����
� 
 δ*���
	���

�� �	��

�� ���� DgxC11−xDE3 ����	�� 
 � 	�,��� ��*

��	���	���$� &�� 
,����
�3 C1DE 
 DgC1DE 
���� 	�,
�� >
	

� ,��	���
*


�� ,�
�G �	
 �	
��$�


 � ��
����3 �	�
���$
� 
,�
 �
�	���
����
� ,�
3

� 	�,��5���� $
� ,�
� �	���$
����
 C1DE � �	
��
����
�� � ����
 ���,�*

������ 

%� �	��
� L�	�
 t!u� +��
���
 ,�	�$� ,����
��� ����
-
��5
��

��� ��%$� �	��� ,�
� �	���$
����
 � �$
�� ���	�
� 
 ����
-
��5
��  �*

	5�	�� DgC1DE � $	����� ?	
 ���� $���
%
��� �����	�

�� ��
-�
�	�-
��

����
-� ,�

���� 

%

� �
�	���
����
� �	���
5 	�,��	
��� ���
����

�3

��� �	
��$
� � ��

%�

� 	�,��	
���
 �
������ =��
� � 	�,��3 $����	
��

�
����� ���������� 
, �����	�
�� � H��
��� �����	���$

��3 $�� ����	��

$�
%�

� � �$
�� 
, 
��	����

� ,����
����
��

M�� � �����
�5 $����	
�� ��, ��	�$���

�� ��	��3 
� ����	�
���
 � *

	�,-� ���	���
������ ��� 
�,������� ��,�3 ,���� �%
������ ��
����
� ��
*

����� 
, D^CW 
 
��������� ������
����
� ,����	 ����$�� ���
$�	�
��

�����
���	��

� M�� � 
, �%��5 ,���	���
 $����	
��� ��,� 
� ,�$

� ,�*

���	 
 
����5,����5 �����$

� 
�,��
�
��3 
� ��� 

� ∼5��� 
������ ����

��� 
�,�������� 

,�������	���	
��� C1DE� '��� ���� 
�
��
��� 
� ��$��%*

��3 �	�$��	
���5
� ����%$�

�� � ����	� ��������	
�*������� ��
����

 �

600◦C $� 270◦C3 
 
����  ��5>�� ���
������ $�������3 ����	�� �




����

"7



~ ~ ~~

~~Si

2DEG

GaAs

Низко-
температурный Задний

затвор

GaAs
(cap layer)

AlGaAs GaAs
AlGaAs/GaAs

Сверх-
решетка

E F

<
�� ); J�����
������ 
,� 	�%�

� $
� ,�
� �	���$
����
 � 	�,-�

�	���
5 L�	�
 � ,��	���

�� ,�
�� 6 	�,-� �$���
� 
, �$
�� 
 ��� %� >��*

 � � ������	

 ���,
*&�	 

� 
 
���� ,����	 �����$5� 27×104���2 @� 	�*

,�- ��A3 2.1×104���2 @� 	�,�- ��A 
 22×104���2 @� 	�,�- �"A� <������

� ��

,����	� $� ����	��	�

-� ��	�$������5 �� ������
 
 	��
� �444�D $�� � 	�,*

-�� �� 
 �� 
 ��44�D $�� � 	�,-� �"� ��

�� 	�,�
�
� ��%��  ��5 ���,�
� �


�����5�� ���
���>
�
�� ��	����	��
 ���
������ �
���	��

 �	
 
�����*




 ������
����
� ,����	��� ��	����	
,�-
� 
$�
�
�
�� >�� �  �, ,�$
���

,����	� ����,���3 ��� $����	
�� ��, 
���� ����
���5 ns = 9 × 1010 ��−2 


��$�
%
���5 ≈ 4 × 106 ��2/B·� �	
 �����	���	� )&� B� ���� �	�� � 	�,-��

,�$

� ,����	 ���,���� ,���	���

�� 
� $����	
�� ��,3 ������� 
� 
����5*

,������ �	
 
,��	�

���

 � %����
�� 
���	�

�

��� 
,��	�

� ������ �
�
������� ����
-
��� �	
 $	� 
�� �����	�� ,����*


�

� �� 
����5,����
 ����$
�� 
,��	�

� ���

��������
 t��u�

+����
� ��	�$���

�3 ����	�� ��
�$� ���� � $��5
��>��� 
�
�������

��	
���� ���
������� 
�,������� �	�
,��$
�� ��� �$
�� �
�	�

 i��5�*

���5-� �� �
��� ����
- � �
����� �	
 ������

�� � H��� �
����� 
 ���*

".



��	���	�3 μ̃ = (∂F/∂Ns)T,V � J�� �$
�� �
�	�
� i��5����5-� ��������3 ��*

�
�� �
��	�

�� �
�	�

3 �����	
������ �
�	�
� �,�
��$�����
� $����	*


�� �����	�
�� � �����
�
	���
� ,�	�$�� $�
�	
��� ���� 
 ,����	�3 ����*

	��3 ��� �� ����	�3 $��


	���� ����	
���� ���
����� μ y ���5 	�,*


���5 ��%$� �����	��
�����
-
���� 
 �����	
����
� ����
-
���� �
�����

μ = μ̃− eU � �
���������	
���� ��������� ��������� D y �	�
,��$*


�� �
��� ����
- � �
����� �� �
�����
-
���3 D = dNs/dμ�

<������	
� ������ 	��
����
� � �
�����3 ���$� �����	��
�����
-
�� �$*


�	�$�
 �� $����	
��� ���� 
 ���
������ �� �����	��
�����
-
��� ,����	�


� ���
�

� 
��	�%�

� Vg ��%$� 

�
;

eVg = eϕ+ μ+ eφ,

�$� φ w ��
����
�� 	�,
���5 ����
-
����3 ϕ = ens/C0 w 	�,
���5 �����	
*

����
� ����
-
���� ,����	� 
 $����	
��� ��,� � ����
���5� �����	�
�� 
�

�$


-� �����$
 nsG C0 = ε/4πd w ������	
������ ������5 
� �$


-� ���*

��$
 ��%$� $����	
�� ��,�� 
 ,����	�� @ε w $
�����	
������ �	�

-��*

����5 �	�$� ��%$� 

�
3 d w 	������

� ��%$� �����	�$��
A3 � �
�����
-
*

�� μ �����	�

��� ��,� ����
�������� �� $
� ,�
� 	�,��	
��� ���
����

�3

�
�����
-
�� ,����	� ������
�
� ?	
 ��	�
��� 
�����	��� �
��� �����	�
��

δN = δq/e � ,����	� � $����	
�� ����3 �	���� ����5 �	��
�

� 
,��

���;

ϕ= δq/C03 δμ= δN/D� =��$� �����
� ���$����� ��	���� $�� 
,��	�����

������
 
� �$


-� �����$
 C=δq/δVg;

1

C
=

1

C0
+

1

e2D
@�A

9����
�3 ��� ����$ 
,��	�

� ���

��������
 
� $��� ,
���

� �%
���*

����
 � � �����
�� �$


-��� L�	���� @�A ����$�
� � �	�$����%�


 ��
*

���� $����	
��� ����� B � ��� ������ �	� ����� ���� 
,��
�

� �
�	�

 ��
*

�����
�� �����	�
�� 
 �������������

�� 	�>�

� ,�$��
 t�)u� 6$
���3 
��

 �$�� 

��	������5 	�,�
� 
,��
�

� �
�
������� ����
-
���3 ��� ��,������

������5,����5�� �	
 �
%�

�� ��	������

6�$��5
� ���$��� � ��$
�5 ���	�� � ������	
������ ������
 � 	�,-�� B�*

�
���

� �� ��	���� $�� ������	
������ ������
3 �	
��$�

�� ��>�3 
�

"(



0 4 8 12 16

−0.2 

−0.1 

0   
 

0.1  

0.2  

B (Tл)

V g
 (В

)

0 2 4 6 8 10 12

−0.3

−0.2

−0.1
0

0.1

0.2

B (Tл)

V g
 (В

)

ν=1/3
ν=2/3

ν=1/3
ν=2/5

(a) (б)
 

 

 

 

<
�� !; B��	 K�
$��@��������A 1A � 	�,-� ��3 nA $�� � 	�,-� �"

����
� ��		���
�3 ������ ��� ���$���� � ��	���� 	������

� ��%$� ����*

�	�$��
 ��%�� 
� �����$��5 � 	�������3 �	��� ����3 
� ����$� 
,����
� � 
�� *

��$
��� ���
���5� �����$5 ,����	�� i�����	
������ ������5 ��%
� ��	�*

$��
�5 �� ��	���� @�A3 ,
�� ������5 � 
������ ���� 
 ����
���5 ������

�

D0 = m/π�
23 �$� m = 0.067me3 me w ����� �����	�
�� S�����5 � 
������ ����

��%
� ��	�$��
�5 
, ����	��

� ��� 
�,�������� ���	� K�
$��� &��  ���

���,�
� 	�
��3 �����	 ,����
�

� 	���
 ν = ns/nL3 �	
��� ns ,��
�
� �� Vg3

nL �	���	-
�
��5
� B3 ��� �	
 �
��
	���

�� ν ��	�$����� ��
�-
�
��5*


�� ,��
�
����5 Vg(B)3 
�,������� ���	�� K�
$��� +� 	
��
�� ) �	
��$�
�

��� ,��
�
����5 $�� � 	�,-� �� $�� �����	�� ,����
�

� ν = 1/3, 2/3 
 � *

	�,-� �" $�� ν = 1/3, 2/5� ?� �����
-
�
�� 
����
� �	���� 
 ��	�$�������

������5 
� �$


-� �����$
 � 
������ �����

S�����
�� �
�
�� �


����
 ��� �	
 -����
���

��3 ��� 
 �	
 $	� 
��

�����	�� ,����
�

�3 
 � �$
�����
�
�� �	�$������


 $���
���� ���
�

�

������	
������ ������
 ��%$� �


�����
� =���� ����$�

� �������������

 ����
��
�� ����
���
 ������

� 
� �	��
� K�
$�� 
 �� ��
��
��� ,
���*



� �	
 -���� �����	�� ,����
�

�� I���
��

� ��
-�
�	�-

 �����	�
��

"�



 

V  (a.u.)g V  (a.u.)g
N  (a.u.)s

C
/C

0
0

1

0.5

1.5

0.5

1.5

μ μ

a) б) в)ν=ν0  ν=ν0
 ν=ν0

<
�� 7; +� �	
��	� -
����	�

�� ���
 @ν0 = 2A � �$
�����
�
�� �	
 �
*

%�


; @1A ,��
�
����5 ������
��� �
�
��� �� 
��	�%�

� 
� ,����	�G @ A

�
�
����
� ����
-
�� �
����� � �$


-�� �ωc � ,��
�
����
 �� 
��	�%�*



� 
� ,����	�G @�A �
�
����
� ����
-
�� � �$


-�� �ωc � ,��
�
����
 ��

��
-�
�	�-

 �����	�
�� � �
������ J���>
�� �


� * 
$���5
�� � 	�,�-3

>�	
����� * � 	�,�- � 
��$
�	�$
�� ����
���5� �����	�
���

� �
����� �	
��$
� � ,����
�

� �	��
� K�
$��� ?���
���5 ������

� ���*

,������� �


���5
��3 ���$� �	���
5 L�	�
 
���$
��� � ��	�$

� �
�	���
*

������ ���
3 
 ����
���5
��3 ���$� �	���
5 L�	�
 
� �	�� ���
� �
�
��*

��
� ����
-
�� ���
� � 	�,�� 
���� 	�,��� ,��
�
����5 �� ��
-�
�	�-



�����	�
�� 
 
��	�%�

� 
� ,����	�� �
���,�
 Vg3 � ����	�� �	�
���$
� 
,*

��
�

� �
�����
-
��� � 
$���5
�� � 	�,-�3 ��	�$������� ���
�

�� ������

�
�����
-
��� �	
 ��������������� �����	� ,����
�

�� +� 	
��
�� 7@ 3�A

����,�
 ������ �
�����
-
��� �	
 �����	� ,����
�

� ν = ν0� L�	���� $��

������ �
�
������� ����
-
��� ���������� 
, ��	���� $�� ������
 

���	
*

	���

�� �� >
	

� �


����;

δμe =
e2

C0

∫
min

C0 − C

C
dns =

e

C0

∫
min

(C0 − C)dVg @�A

J��$��� � 	��
�5 �

��

�3 ��� � ��	���� $�� ���
���

� ������ �
�*

����
-
��� ���$
� ���5�� ��
�>�

� 
,��
�

� ������
 � ���

�
�� ���� �

������	
������� ,
���

� ΔC/C03 � 
� 
� � �����
�� ���
�

�� +��
�
�

 ����	�$�� � �
�����3 � ���%� ��
��
�� �����	���	�3 �	
��$�� � 	�,���
�

������ �
�����
-
���� ?	
 ���� 	�>����� 	��5 
�	��� $�


���	
�$
��

)4



 ����	�$�� t��3 ��u� �
	

� �	����� � 	���5
�� � 	�,-� ��� �	��
�� ,����
�

 ��5>� ������ �
�����
-
���; dVg >> dμ/e3 � ��� �

���
 � ������
3 ����*

�������

�3 ��	�%�
� ��� �� @dC/C << 1A�

8� 	������	
���
 �
����� � 	��
����

� +� �	���
�� ������
�� �
�*


�� ��%�� 
���%��5�� ��� 
�,�������
 	�,
��
�
��
 ��������
 t��u� ?	



,��
�


 
��	�%�

� 
� ,����	�3 
,��
����� ��
-�
�	�-
� �����	�
�� �

$����	
�� ��,�3 �$
��� $�� ����
����

� 	��
����
�� ����
���
 �	� ���*

�� ��
��
�� �	���� M�� � ��
��53 �� ���� �
� ,��
�
�3 	������	
� � ����5


�	��
����
�� ��
-�
�	�-

 �����	�
��� #,*,� �	�$
�
�� ��
-�
�	�-

 ��,*



���� 

$�-
	���

�� �����	
������ ���� �E = −e�∇n 3 ����	��3 � ���� ���*

	�$53 �	
��$
� � ������

� ���� �j = σ̂ �E � �
������ �
��	��
-
� ����������

������������ ���� /YqjH~4 
3 ������
� �	��
�

� 
��	�	��
���
3 
� ��
�*

�� ����
���
 ,�	�$��� B �����
�� &'� σxy � σxx� 6�
��
�� @��������
�A

��� ����� 
�	���5
� �	�$
�
�� ��
-�
�	�-

3 
� ����� ������ ����
����

�

	��
����
�� ����
���
 $
��
���
�
�� ������������ ���� jd3 
��	����

��

�$��5 �����	
������� ����� J����������

�3 ��� ��
5>� $
���
��5
�� �	�*

��$
����53 ��� ��$��

�� ����
���
������ 	��
����
�3 ��� ��� ����������*

���� �	��� τmax � 	��
� �	���	-
�
��5
� σxx� B ���� ���	�$5 ���
�

� σxx

�����
�
-
��5
� ���
5>����� �	
 ��

%�


 �����	���	�� =��
� � 	�,��

	�,
��
�
�� ������� ����%
��� 
,��	�

� �	
 

,�
� �����	���	���

?���$�

� �
����� N$����	
�� ��,w,����	O ��������

� ��$� 
� ����$�*



� 	���	�$���

�� RC*-�����
3 ��	����	� ����	�� ,��
��� �� ��
-�
�	�*

-

 �����	�
�� � � 	�,-�3 �����	���	�3 ���

�
��� ����� ?	
 �����
� �����*

��� @f > 1/RCA 	��
����
� � $����	
�� �����	�

�� ��,� 
�  �$�� �������5

����
���
���5�� 
,*,� ��
��
��� ���	��
���

� �
�����3 ��,

���� ��	�

*

��

� 
� �� �	 	� ��
� �������

B�
�

� 	�,
��
�
�� �������� ��%
� 
�����
�5 ���$�

�� � �
�����

��� �$
��� �����	�$�� B �����3 
����5,����� � 	� ���� :>��	
 t�)u 
 :	
*

����� t��u3 ��$�	%
��� ��� �$

 @,�$

�A �����	�$3 �� ����	��� �
����� ,�	�*

%�����  �,��
��
���5
� � ���
�

� σxx� =���� ��$��$3 �$
���3 ���  � ,����
�

���$>
�5 ��$�
%
���5 
 �$
�	�$
���5 $����	
�� �
�����3 ����	�� ������*

)�



�� �	
�
�
��
 �	
 
����$���

�� �&'�� B 
�>�� ������ 
, �%��5 	�,
*

��
�
�� �������� �$����5 ��

%�

�� ������� �����5 $� 4�4! i- 
 �� �	��

,����	�� ��
5>�� �����$
 
 $���
�
��5 

,�������	���	
��� �	�$����

 �& !����	
��
���"
�� 	����"���� 
 �$�����

�

=
�
�
�� ,��
�
����5 ���

��������
 C ��� ��
�-

 
��	�%�

� 
� ,����*

	� Vg ����,�
� 
� 	
��
�� .1� I,�
� �	����� � ������
 �	
 �����	�� ,����*


�

� ν ≡ nshc/eB = 1/3, 2/5, 3/5, 2/3 ���	���%$����� �����5
��
 ����
*

�����
 ������
 ��%$� 

�
� B ��	���
���
 �����	� ,����
�

� ν = 1/2

������5 C �	
 ���� 
,������� ,
���

�� ���� $���
���� ,
���

� C0� F���

�	���	�
�3 ��� ,
���

� C0 � �����	
��
���5
�� ���
���5� �����$��� � ��*

�
�

��3 ���
���

�� �� ��	���� @�A �� ������
 � 
������ ���

�
�� ����


 ����
���
 ������

� 
��,�
��$��������
� �����	�
�� � � H��
�� �����*

�
�
�� ������ D = m/π�
2 @�$� m = 0.067me 
 me w ����� ��� �$
��� �����	�*


�A t)�u� i�����	
������ ������5 ����
�
������ � ����
��

�� �����	�

��

����
���
� '�� �����  � � H��
��5�� ���3 ��� �	
 �	
��%�


 
��	�%�

�

� ��	�
��� ,����	� 	������

� �� 

��	����� @����	��	�

-�A $� $����	
���

���� ���
5>������ &�� �
$
� 
� 	
��
�� .@1A 	�,
���5 δC=C−C0 ��� ��
�*

-
� �����	� ,����
�

� ����
 �
����	
�
� ��
��
���5
� ν = 1/2� 8���
���

� δC3 
� ��$����� ����� ν = 0 
 ν = 13 ��	�$������� ��� 
�,������� ��	
*

-����5
�� �%
�������5� t�4u� B�,��%
�� �	
�

�� ��,

�
���

� �������

�������� �,�
��$�����
� ���,
����
- �$
��� �	��
�3 ����	�� $��� ��	
-�*

���5
�� ����$ � �
�
����
� ����
-
�� ��	�$�� −(e2/εlB){ν}1/2 @ ,$��5 {ν}y
	�,
���5 �����	� ,����
�

� �  �
%��>
� -���� ,
���

��A� J��$��� ��$*

��	�
��53 ��� 	��5 
$�� � ����
�� ,��
�
����
 C(ν)3 
� ��
� ����	�� �
$
�

	�,�
� ��� �

���
 �&'�� B 
� ��
>��� �
�5
�� ����� B < 10=� ��
 ��� �
*


���
 � ������
 ��	��	������� � �


�����
 �&'�3 
�����5�� ,��	�$
��

��	�$���

� ������� M�� � 
, ��
�5�� �� ����� ����$�3 ���
�

� C0 � �	��*


�


 @�A $�� ������ �
�����
-
���  ��� ,���
�
� 
� Cref @	
��. A3 ������
*


�� 

��	����-
�� ,��
�
����
 C(ν) $� 
 ����� ��� �

���
 � ������
 �	


$	� 
�� �����	�� ,����
�

�� 6�
�������5 
� ���3 ��� dμe/dns∝{ν}1/2 t��u3

)�



��%
� ��
���5 �����	
��
���5
�� ,��
�
����5 δC(ν)3 
�����
� ��	����	�

$� 
 ����� $	� 
�� ν� #����$����� ���
�

� Δμe ���,������� 
� ������
*

���5
� � ��
�	��
��� 

��	����-
�

��� ,���
�3 ��� � �����
������ �����

>
	

�� �


����� � ������
�

?�����

�� ���
� � 	�,�� �
�
����
� ����
-
�� �
����� �����	�
��

�
�5
� ��-
��
	��� @	
�� .�A; 	�,�� 	����� � �����	�� ,����
�

� � ��	���*


���
 ν w 	�-
�
��5
�� $	� 
 � 
����
�� ,
���
������3 
 ��$��� � � ��*

���� � N��	
-����5
�� �%
�������5�O3 ���$� dμe/dns < 0� =���� ����$�

�

����������� ��� � 	�������
 t��u � 
�	�	�
������ ��$��
 �&'�3 ��� 
 � ��*

$��5� �����,
�
�� ��	�
�
�� @��� ��$	�,$�� "�)��A� J����� �
�����
-
���

������������� 
,��� 
� ,��
�
����
 ��� �$
�� �
�	�

 $����	
�� �
�����

�� ����
���
 �����	�
�� @�	
 �
��
	���

�� �����$
 
 �����	���	�A� ?	


T → 0 ������ �
�����
-
��� 
��	���� ���,�
 � 
,����� �
�	�

 E ��
��
�*

�� ������

� $����	
�� �����	�

�� �
����� @	
��.�A� J��$��� �����
�53 ���

�	�-�$�	� 
,�����

� μ 
 �
�	�

 ��
��
��� ������

� E 
� ����
� ���
� ��

�	
�

��3 � ��%$��>
��� ��>� @��� �	�$�$��
� ��$	�,$��A�

� � � #������
��9 ������ ���1
�������� 
� �������
�
 1
��8 ,��7

�
�� ��1
������8 ���� ���1
����� � �������

+� 	
��
�� ( ����,�
� 
,��
�

� ���
�

� Δμe �	
 ν = 1/3 
 ν = 2/3 $��

� 	�,-� �� � ���

�
�� ����� � 

,�������	���	
�� �	�$���� J ����
��*



�� ���� ���
�

� ������ �
�����
-
��� ��,	������� B�>� B ≈ 5T $�

��

$�� ν = 1/3 ��	�>� ��
�������� �

��
�� ,��
�
����5� �� B 
 �	���
����


�����$��� � $�

��
 $�� ν = 2/3� B ����� ���

�
�� ����� 
� ,��
�
��*

��
 ���
�

� ���
 Δμ $�� ν = 2/3 �
$�
 �


���3 ����	�� �������������

��

����� ��	���$� � ��
��
�� ������


 t�7u� +��
�
� ��

����� ��	���$�

��%��  ��5 �	���	�
� 
 �� �	
�

��5
�� $�

�� C(Vg)� ?	
 B ∼ 4T 3 � �
*

,
 ��	���$�3 � ������
 �	
 �����	� ,����
�

� 2/3 
� ��$����� ��	����	�

$���
��� �


���� @��� 	
�� �A� J�	����	� �	��������� �	
 

,�
� �����*

	���	�� 
 ��$� 
� ��	����	�� � ���

�
�� ��	���$��3 
� ��$����� � -�*

���
���

�� t�(3 ��u 
 $	� 
�� ���
����� ������� ����� $�� ν = 2/3 t"4u�

)"



-0.2 0.0 0.2
140

150

-4

0

4

-0.4

0.0

0.4

0.2 0.4 0.6 0.8
0

3×109

 

 

C
 (п

Ф
)

Vg (В)

C0

ν =1/3 ν=2/3

(a)

Cref-C0
(б)

 

 

δC
=C

-C
0 (п

Ф
)

(в)

∆μe  

 

μ
(м

эВ
)

∆μe

(г)
 

 

E 
(м

эВ
×с

м
-2

)
e

ν

<
�� .; @1A8��

��������5 ��� ��
�-
� 
��	�%�

� 
� ,����	�3 ��
��
	��

����,�
� ������	
������ ������5� @nA <�,
���5 C − C0 ��� ��
�-
� �����*

	� ,����
�

�� =�����
 ����,�
� 

��	����-
�

�� �	
���� @�A �
�
����
�

����
-
�� ����� ν = 1/3 
 ν = 2/33 ������

�� 

���	
	���

�� ���

����*

����
� @�A J�� �$
�� �
�	�
� �e �
����� � ��	���
���
 ν = 1/3 
 ν = 2/3 3

������

�� 

���	
	���

�� �
�����
-
���� +������ �	���
5 � @�A3@�A ����*

��������� $	� 
��� ν� ��

�� ������
� � � 	�,-� �� �	
 T = 0.18 K � ����

9 T �

))



0 5 10 15
0.0

0.5

1.0

1.5

0 4 8
0.0

0.4

 

 

 (м
эВ

)

B (Tл)

  =1/3
  =2/3

 

 

 (м
эВ

)

B (Tл)μ

μ
ν
ν

∆

∆

e

e

<
�� (; 9��
�
����5 ������ �
�����
-
��� �� ���

�
��� ���� $�� � 	�,-�

��� J���>
�� �


� * �

��
�� 

��	����-
� �  ��5>
� ������ ?�
��
	*


�� �


� ������������� 9����
������ �
�	�

 � � H��
�� C1DE� +� �������


,� 	�%�
� � ����5 ����� ����� � ����
��

�� ���>�� �� ?�
��
	
�� �
*



� $�� ν = 2/3 
 ν = 1/3 �	���$�
� $�� 
����$
���
�

J�
������3 ��� ��
��
�� ������

� $����	
�� �����	�

�� �
����� �  ��5*

>
� ����� ���
���5� ����	
,���
� �� ��

� �	
 ���
�� ν = 1/3, 2/3G �

����� ���

�
�� ����� � ��	���
���
 ν = 2/3 �
�	���
����
  ���� ����$
�

	�%$�

� ���,
�����	�
�� �� ��

�� �	��
� ���� t�!u�

?	
 B = Bc ≈ 4T 
� ��$����� �����
�

� Δμe(B) �� �

��
�� ,��
�
*

����
 $�� �����	�� ,����
�

� ν = 2/3 
 ν = 1/33 �	
��� $�� ν = 1/3

������ �
�����
-
��� � ����� ����� �	��

� � ,����
����
� 	�������

��

� � H��
�� C1DE�

=�	��$

��
����
� 
,��	�

� � 

,�������	���	
�� �	�$��� ��,������

)!



C

V  (В)g

a)
−0.14 −0.12 −0.1

V (В)

1пФ

g

C

B=3Tл
ν =2/3

б)

л

пФ

<
�� �; J�	����	� $���
��� �


���� ������
 � ��	���
���
 ν = 2/3

1A� 	�,�- �� �	
 U~"4 �&3 �


��� 
���%�
 	�,
��
�
�� ����$��G

nA� 	�,�- �"� B�	�
���5
�� �




 ���,����� ����%�

� �� Vg3 �������*

�������� ���
��� �����	� ,����
�

� ν = 2/3� 8


��� $�� � 	�,-� �"

��
�� ��� ��
�� '�� ���,�
� ��� � ��������
�� ��$��>
��

� 	�,
��
�
���

����$�3 ��� 
 � ��
5>
� ,
���

�� ���

�
��� �����


,��
�5 
,��
�

� �
�	�

 ��
��
��� ������

� $����	
�� �����	�

�� �
*

����� �	
 
,��
�


 ����
���
 �����	�
�� � ��	���
���
 ν = 1/3 
 ν = 2/3�

#,��
�

� ,��
�
����
 ������ �
�����
-
��� $�� ν = 1/3 �� ���

�
��� ��*

�� �	
 B = Bc �����  �  ��5 ���,�
� � �	�$���������� 
,��
�

�� ��

�

N��, �%$�

���O ������

� t�7u3 �� ���5 $����	
�� �����	�

�� �
����� � ν

 ��5>� 1/3 $��%
�  ��5 ���
���5� ��

*����	
,���
� �	
 B ≥ Bc� J��$�*

��3 �$
���3 �����
�53 ��� � ����5 ����� ����� ���
���5 ��	�$���

� ����*

�� 
������� 
,*,� ����� ���
�

� �	����� 
 ���  ��5>�� >
	

�@Δν ∝
Δns/BA� B �
�5
�� ���

�
�� ����� ���
�

� ������ �
�����
-
��� $��

ν = 1/3 �����$��� � ���
�

�� $�� ν = 2/3 � �����	
��
���5
�� ���
���5�3

��	�%�� �����	�
*$�	��
�� �
����	
� � 	�������

�� �� ��

� �	��
�

K�
$��� ?�$� 
�� 	�,��5����  ��
 ������
� 
 
� � 	�,-� ���

+� 	
��
�� �4 ����,�
� 
,��
�

� ���
�

� ������ �
�����
-
��� Δμe

)7



2.0

Δμ
,  Δ
μid  (м

эВ
)

 

ν=1/3
ν =2/5

ν=3/5
,
,

e
e

 

 

0 5 10 15
B (Tл)

0.0

0.5

1.0

1.5

<
�� �4; 9��
�
����5 ������ �
�����
-
��� �� ���

�
��� ���� $�� � 	�,-�

�"; ,��	�>�

�� �
����� 
 �	���� * �����	
��
���5
�� $�

��3 ������ �
�*

���� * $�� 
$���5
��� � 	�,-�� ?�
��
	
�� �



 * �

��
�� 

��	����-
�

�  ��5>
� ������ +����
� �	���� $�� ν = 1/3 
 ν = 2/5 ��
������ ��� � *

	��
�� ,
���
����
� B��
�

� Δμid $�� ν = 2/5 	�,$���
� 
� 4�7� ?�
��
	��

����,�
� ��	
���� ,��
�
����5�

�	
 ν = 1/3, 2/5 
 ν = 3/5 $�� � 	�,-� �" @,��	�>�

�� �
����� 
 �	�*

���A� B �
�5
�� ���

�
�� ����� $�

�� ���%� ��
�������� �

��
��


�������
 ,��
�
������
3 
 ���
�

� ������ �
�����
-
��� $�� ν = 2/5 


ν = 3/5 ���%� �����$���� <��� ������ �
�����
-
��� � ����� ��	�$�����*

�� ,
���
������� F��� ����
����
�3 ��� ��
�>�

� 
����
�� ��
� �

��
��

,��
�
������ � �����	
��
���5
�� ���
���5� 	��
� � 	��
��� ��
�>�

�

,
���
������ $	� 
�

J	��
�

� $�

�� �	
 ν = 1/33 ������

�� � � 	�,-�� �� 
 �"3 �	
*

��$�
� 
� 	
��
�� ��� ?	
 �
��
	���

�� ���

�
�� ���� ���
�

� ����*

).



0 105 150.0  

0.5

1.0  

B (Tл)

Δμ
e (м

эВ
)

 

 

ν=1/3

<
�� ��; 9��
�
����5 ������ �
�����
-
��� �� ���

�
��� ���� � 

,�����*

��	���	
�� �	�$��� $�� � 	�,-�� �� @������ �
�����A 
 �" @,��	�>�

��

�
�����A�

�� �
�����
-
��� � 	�,-� �� �
������
����
 ��
5>� ������ �
�����
-
���

� 	�,-� �"3 
�����	� 
� ��3 ��� � 	�,-� �$���
� 
, �$
�� >�� �� '�� ��*

�
�
� ���,�
� � 	�,
�� �����
5� 
��$
�	�$
���
 � 	�,-��� B �����	
��
��


� ��$����� ��
��
�� >
	

� @	������

� �� �����	� ,����
�

� ��%$�

�


����� 
 ����
�����A ������ �
�����
-
��� @��� 	
����A3 ���$� ��� $��


$���5
��� � 	�,-� �	
 
��� �����	���	� �%
$����� 
������ >
	

� ������

�
�����
-
���� B �	

-
��3 ��
��
�� >
	

� ������ ��%��  ��5 ��,��
�

��� �$
�	�$
��3 ��� 
 
��$
�	�$
�� �>
	�

�� �	��
��� B 
�>
� � 	�,-��

�	
 

,��� �����	���	� >
	

� �	������ � ������
3 ��	�%�

�� � �$


-��

�����	�

�� ����
���
3 � �����	
��
���5
�� ���
���5� 
� ,��
�
� �� ���*



�
��� ���� 
 �����	� ,����
�

�� =���� ����$�

� �$
�,
��
� ���,�����3

��� ��	�$�����
� �������� 
��$
�	�$
�� �>
	�

� �	��
��3 � �������

��

���	�����
������ 
��$
�	�$
���5� �����	�

�� ����
���
 � � 	�,-� t�!3 "�u�

)(



 

0.3 0.4 0.5
-1.0

-0.5

0.0

0.5

1.0

 

e  (
мэ

В
)

16 Tл

ν

μ

Δμe
id

<
�� ��; 9��
�
����5 �
�����
-
��� �� ν � 

,�������	���	
�� �	�$���3 ��*

����

�� $�� � 	�,-� �"� ?�
��
	
�� �


� ������
� ����	�����-
�� �
*


��
�� ,��
�
����
 ,� �	�$����
 ������ � � ����53 ��������������� $	� *


��� �����	� ,����
�

�� +������ �	���
5 ������������� ν = 1/3�

J��$��� �����
�53 ��� � ���
�
� �� -����
���

��� ���
������ ������� ���*

��3 �


���� � ������
 �	
 $	� 
�� �����	�� ,����
�

� ���	���%$���*

�� ��
��
���5
�  ��5>
�
 �����5
��
 ����
�����
 ,� ���� ��	
-����5
��

����
���
 ������

�3 ��� ��%�� �	
��$
�53 ���  �$�� ����,�
� $����3 � ,
�*

�
���5
��� ���
5>�

� ������ �
�����
-
��� �� �	��
�

� � 
$���5
��

��������

?�����
 ��	�,
�5 ��
�-
�
��5
�� ,��
�
����5 ������ �
�����
-
���

�� ���

�
��� ���� � �	�$��� �
����� � 	�,-�  �, 
��$
�	�$
�����3 ��
�*

��

�� 
� ��
�	��
�� ��	�� 
,���� � �
�	�

 ��
��
��� ������

�3  ��


�	�$�	

��� � 	� ��� t��3 "!u3 �$
��� 	�,��5���� 
� 
���
 ������� #$�� ���*

�� ��$��$� �����
� � ���$������ B �����
�� 
��$
�	�$
��� 	���	�$���

�

����
���
 �����	�
�� �����	
��
� $��� �	�$

� �� � 	�,-� ,
���

� �
�*

)�



����
-
��� � ,��
�
����
 �� �	�$
��� ,
���

� ����
���
 Δμe 
 ns� ?	
*


��� ��
���53 ��� �����	�

�� ����
���5 � � 	�,-� 	���	�$���
� �� i�����

f(ns − ns) = 1√
2πσ

exp
(
− (ns−ns)2

2σ2

)
� M�� � �����5 
��$
�	�$
���5 ��
-�
�	�*

-

3 ��,

������ 
,*,� �������-
� $�


���	
�
��� ����
-
���3 ��������*

�����5 ���	��� ��
�-

 Δμe(B) � ��
�-
�� i�����

μe =

∫
μid

e (ν)f(ns − ns)dns.

L�
�-
�
��5
�� ,��
�
����5 ������ �
�����
-
��� �� ���

�
��� ����

��%��  ��5 ��	�$���
� � �	�$����%�


3 ��� ��	�� ��-
���-
� μe(ν) 
� ,�*

�
�
� ��
� �� B3 
� ����
��$� ��-
���-
� ���5 ��
�-
� ���

�
��� ����

μid
e (ν) = F (B)G(ν)� ��� ����������� ����
���
 	���	�$���

� � ������

��

>
	

�� σ(ns)3 ��-
���-

 μid
e (ν) �������

� ����%
������ � ���
5>�

��

���

�
��� ����� =�� ��� ��	�� μid
e (ν) � 	���
� �����	� ,����
�

� ν ����
*

����
 
�
,����
�3  ��� 
����5,���
� 
�
��
�� ����%�

�� �����	
��
���5*


�� �	
��� μe(ν) � �7 =�3 ������

�� � � 	�,-� �"3 $�� 	������� � �����

������ =���� ��$��$ 
� ��,������ �����
�5 ���
�� ,
���

� ������ � 
$���5*


�� �
�����3 �$
���3 $��� ��,��%
���5 ��	�$��
�5 ��
�-
�
��5
�� ���

*

��������� ,��
�
����5� ?�$ 
	�� σ(ν) = σ(ns)hc/eB 
 ��	5
	�� ����
��$�

��-
���-
�3 �� �����
�
 ��	�>�� �����$�

� � �����	
��
���5
��
 �	
��*

�
 C(ν) � 	���
� �����	�� ,����
�

� ν = 1/3 
 ν = 2/5 � ����� B < 16 = 


��	�$��
�
 ����$�

� μid
e � 
,��
�

�� ���� @��� 	
�� �4A� ?�$� 
�� �	�-�$�*

	� ��	�>� 	� ����� �  ��5>
� �����3 �$� >
	

� ��� �

���
 �
�����
-
���

 ��5>� >
	

� 
��$
�	�$
���
 ��
-�
�	�-

3 ��� $�� 
�>
� � 	�,-�� $�*

��
������ � ����� B > 10T � : �����
�� ,
���

� �
�����
-
��� �� �,��


	��
�� Δμid
e @��� 	
�� ��A3 ������

�� �

��
�� ����	�����-
�� $�

�� �

$	� 
�� ν � �7 U� J��	��� ����� �
��� 	�,
�� �	
��� 
 ��
�-

 i����� �

��	����	�� σ(ns) = 2 × 109��−2 $��� ��	�>�� ������
� � �����	
��
����

&�� �
$
�3 ��
�-
�
��5
�� ,��
�
����5 Δμid
e 
�,��
�
�� �� �����	� ,�*

���
�

� � ���
���5� $� �
���

��� �
�%
���� ��
�������� � �	�$���  ��5*

>
� ����� ���	��
����
 �%
$����� ��	
���� ,��
�
����5� �� ����� ?	
*

��� ��
�>�

� ,
���

� Δμid
e $�� �����	�� ,����
�

� ν = 1/3 
 ν = 2/5

!4



���%� 	��
� !z" � ��	�>�� ���
���5� @� .�A� +�>
 	�,��5���� ����,���*

��3 ��� �  ��5>
� ���

�
�� ����� ������ �
�����
-
��� Δμid �����������

� ���
	
������ ��	
���� ,��
�
����5� Δμid
e ∝ q−1B1/2� =���� ,��
�
����5

�	�$���������5 � 	� ��� t"7u3 ���� 
  �, ����� 	��
  ����	�$���

��� $��� 
����5,���

�� 
��
 � 	�,-��3 ������

�� 
, �$
�� >�� �3

>
	

� �	������ � ������
 ���
������ �	
��	
� 
� "4�� 8� �	��

�
 	�*

,��5����3 ������

�� 
� � 	�,-� ��3 �  ��5>�� �����
5� 
��$
�	�$
���
3


 �"� +� 	
��
�� �" �	
��$�
� 	�,��5���� ���	��
 $�

�� $�� � 	��
��

����
���
 ������

� 
�  ���� �$
�	�$
�� � 	�,-� �" @>�	
�
A � ���������

��
�-
��3 ��$� 	�

�� ���
� � 	�,��3 ��� � �����
�5 >
	

� �	������ ���


� � 	�,-� ��� <�,��5��� ����� ���	��
 @����>
�� �


�A ������ � $�

��


$�� � 	�,-� �� @�
�����A � ��	�>�� ���
���5� $�� �	�� ,
���

� ���

�*


��� ����3 ���
���5� ���	�����
� 
����$����� 

��	���� =��
� � 	�,��3

>
	

� ������
�� ��� �

����� � 
�>
� � 	�,-�� $�����
���5
� ��	�$���*

���� 
��$
�	�$
���5� 	���	�$���

� ns�

F���� ����3 �� �	��

�
 $�

��3 ������

�� � � 	�,-� �"3 � $�

��
3 ��*

����

��
 
� $	��
�3  ���� 
��$
�	�$
�� t�"u � 	�,-��3 � 

,�������	���	*

0.30.2 0.5

−2
0
2
4
6
8

ν

D
0/D

−1 

 

0

1

2

3

ν

0

0.5

1

ν

15Tл 6Tл 3Tл

0.4 0.30.2 0.50.4 0.30.2 0.50.4

<
�� �"; 9��
�
����5 � 	��
�� ��	��$

��
������ ����
���
 ������

� �

�$


-�� 1/D0 
� � 	�,-�� �� @�
����A 
 �" @>�	
�A �� �����	� ,����*


�

� $�� �	�� ,
���

� ���

�
��� ����� i������� ���	��� $�

�� $�� � *

	�,-� �"3 
����5,���

�� $�� ��$��
�
 $�

�� $�� � 	�,-� ��3 ����,�
�

����>
�� �


���

!�



0.2 0.3 0.4 0.5 

−2

0 

2 

4 

ν

D
0/D

8Tл

<
�� �); J	��
�

� $�

��3 ������

�� � � 	�,-� �"3 � $�

��
3 ������

�*

�
 � $	����� � 	�,-�@��������A� 9��
�
����5 � 	��
�� ����
���
 ������

� �

�$


-�� 1/D0 
� � 	�,-� �"@>�	
�A 
 � 	�,-�3 ��$� 
�� 
�>���@�
�����A�

i������� ���	��� $�

�� $�� � 	�,-� �"3 
����5,���

�� $�� ��$��
�
 $�
*


�� $�� $	����� � 	�,-�3 ����,�
� ����>
�� �


��� <�,��5��� ���	��
 ��
�*

%�
 
� ���!�


�� ��$�
%
���5� μ = 1.2× 106��2/B� �	
 ��
-�
�	�-

 ns = 1.4× 1011��−2�

6  ��5>�� �����

 
��$
�	�$
���
 ����	�� >
	��
� 
 
���� ��
� ������
��

�


����� ?	�$���� �	�-�$�	�3 �
����
�
�� ��
��

�� ��>�3 �� ��
�%
*

�
 	�,��5��� ���	��
 � ��
�-
�� i����� 
� ���! 
 �����
�
 ��	�>�� �������*

���
� �	
�

��5
�� �	
��� 
 	�����
�� @	
�� �)A� #����5,���

�� �
���
*


�� �����
-
�
� ���
������ �� �$


-�3 ���3 ��*�
$
����3 ��
$����5������

� 
��
�

 $	����� ����$� � >
	

� �


���� ������
 � �����	
��
���

8�%
� �	�$����%
�53 ��� � ��	��$

��
����
� 
,��	�

�� � �	�$���

� �����
� �$
�	�$
�� �
����� �$
� 
 �� %� ��	�� ,��
�
����
 ������ �
�*

����
-
��� μid(ν)3 ����	�� � 	���5
���
 
���%�����3 � ��
��
��3 ,� ���� 
��$*


�	�$
��� 	���	�$���

� ��
-�
�	�-

 �����	�
��� =��
� � 	�,��3 ��
�

�

 ����	�$��3 ��,

������� 
,*,� �������-
� $�


���	
�$
��� ����
-
���3

!�



�������� $��


	���
� t��u�

� � 	 :����� ���1��������� �������
���* 

J����� �
�����
-
��� �
����� �����	�
�� 
���� �
�5
�� �����	���	
��

,��
�
����5 t��3 "�u� J ����
��

�� �����	���	� �


���� � ������
 �>
*

	����� 
 ���
������ ��
�� ��� ��
�
3 � ���
�

� ������ Δμe ��$���� B �	�*

$��� 

,�
� �����	���	 ���
�

� ������ �
�����
-
��� 
��������� 
 ���
�*

�
��� 
�,��
�
��� �� �����	���	� @��� 	
�� �!A� B � ����
 
�
 ���� �
�5
��

�����	���	
�� ,��
�
����
 �
�  �
,�� � �

��
�� ��� � �&'� t�!u3 ��� 
 �

�&'� t��3 "�u� +
%�  �$�� ����,�
�3 ��� � �&'� �����	���	
�� ,��
�
����5

��%��  ��5 ���
������

� � H��
�
� � ��$��
 �����,
�
�� ��	�
�
���

0 0.5 1
0

0.5

T (K)

Δμ
 (м

эВ
)

 

 

ν=1/3
ν =2/3

(a)

, 11.5Tл

e

1

0 0.5 10

0.5

T (K)

Δμ
 (м

эВ
)

 

ν=2/5, 16Tл
ν=1/3, 8Tл

(б)
e

<
�� �!; 9��
�
����5 ������ �
�����
-
��� �� �����	���	� �	
 	�,
�� ���*

��	�� ,����
�

� 1A $�� � 	�,-� ��G  A $�� � 	�,-� �"

8�$��5 
��,�
��$��������
� �����,
�
�� ��	�
�
�� t�"u �	�$��������

��
�	��
�� �
$ �����	� $����	
�� �
����� � �&'�� &�� 
,����
� t).u3 ,
�*



� �����	� ��,������ ���
��
�5 ��� ��	��$

��
����
� �������� �
������ B

���� ����� �	�$������
� 	�,��5���� 	������ �
�����
-
��� �����	�

�� �
*

����� � �&'� �	
 
������ 
 ��
��
�� �����	���	�� � ��$��
 �����,
�
��

��	�
�
�� 
 
� �	��
�

� � �����	
��
���� B ����
���
3 ����� ��$��$ ��,��*

���� � H��

�5 �
�5
�� �����	���	
�� ,��
�
����
 ������ �
�����
-
���

!"



�	
 $	� 
�� �����	�� ,����
�

� @���	
�� �!A�

+��$�� ���,5 �
�
������� ����
-
��� �����	�
�� � �
�
����
� ����
-
*

���� �����,
�
�� ��	�
�
��� ?	�
� 	���� �,�
��$�����
�� ��%$� �����*

,
�
��
 ��	�
�
��
3 ��	�,
� �
�	�
� ��
��
��� @k = 0A 
 ��, �%$�

��

������

� ���� �
����� ��	�, �	��

 �
�	�

 �����,
�
�� ��	�
�
�� En


 �
��� 
� ,����
�

� Nk
n ; Ek(ν

∗;B∗) =
∑
n

EnN
k
n � �
�����
-
�� $����	
��

�����	�

�� �
����� ��%
� 
���
3 $
���	�
-
	�� ��� �$
�� �
�	�
� F =

−T ln
∑
k

e−Ek/T �	
 ������

�� �����$
 A 
 �����	���	�3 μe = (∂F/∂Ne)A,T .

?	
 
,��
�


 �
��� �����	�
�� Ne ��
����� ��� ν∗3 ��� 
 ���� B∗ 
3

��,��%
� t�"u3 ������
�
�� ����� m∗� <������	
��� ��	���5
� ν∗3 B∗ 
 m∗

��� 
�,��
�
��� ��	���

��3 �����
�;

μe =
∂F

∂ν∗
dν∗

dNe
+

∂F

∂B∗
dB∗

dNe
+

∂F

∂m∗
dm∗

dNe
.

?��� B∗ 
 ������
�
�� ����� m∗ ���$�� � Ek ���5�� ��	�, �	��

 �
�	�



En = (n + 1/2)�eB∗/(m∗c) 
 �����
5 ��	�%$�

� n∗
L� ?������ �����$

� $��

���
� � ���� ��	�%�


 �	���	-
�
��5
� �	�$
�� ���
�� �
�	�

 �
�����
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 ��	�$����� 	������

� ��%$�

�	�����
 ��
����
� #,��	�

� �	���$
�
�5 �	
 �����	���	� �
����� T =

114 �& 
� ��	� ,����	�� � 
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∑
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 E = �vFk ��	��$�� � 

���	
	���*



� �� �
�	�

� &	��� ����3 �	�� 	�,��� δ*��
�-
�3 � �,
��
� E ′′′−E ′′ = ε′;

δ(ε+E ′′−E ′′′) = δ(ε−ε′)� ��� �	������ ���$�� ��	�*�����	� $�� 
������

�

@ε > 0A 
 �������

� @ε < 0A �
�	�

; Fj(ε) =
∫
fj(E+ ε)

(
1− fj(E)

)
dE3 �$� fj

w ��
�-
� 	���	�$���

� �����	�
�� � j*� ��
���� ?���� �,��
� 

���	���

�� δ*��
�-

3 �����
�;

P =
2π

�

L4

(2π)4
(�vF )−4 ×

∫ +∞

−∞
εF1(ε)F2(−ε)|Vif |2dε. @7A

�$� σ = �vF/2l

<������	
� ����	5 �,�
��$�����
� ���	�$����� � ��
� 
�	��
����
��


�����
����
�
 ��
�
��
� #��� � �
$� �	
����� C1DE3 ��
������ �����	�
*

��
�

�� �,�
��$�����
� ���5�� ���	�$����� �5�,������	
������ ���,
3 ��*

��	�� $��


	��� � $�


����
���� �	�$���� :���
��$� ��	���
���
 	��*

���

� ���$��� 
����5 �� ���	�� ��	�$�� ���	

 ��,����

� �� �����	�
*

��
�

��� �,�
��$�����
� 
 ��
�����5 ��� 	���5
��3 ��� 
 �
	����5
��

��
�
�� 8��	
�
�� �����
� �� ���	�� ��	�$�� �� ���	

 ��,����

� 
��*

�� �
$;

Vif =
∑

qx,qy,qz

〈f |Ve−ph|I〉〈I|Ve−ph|i〉
Ei − EI + i0

, @.A

�$� �	���%����
�� ������

� |I〉 = |k′, k′′,q〉 ������������� 	������-

 ��	*

���� �����	�
� k → k′ � 
������

�� 	���5
��� 
�
 �
	����5
��� ��
�
� �

���
���� �����	�� q3 � ����
	���

� ��$���� �� �	����	
�� 
����5��� ��*


�
�� 
 
� ����	
,�-
��� B ����� ������ �	
 
,����


 ��
�
� �����	�
��

��	���� ��
��� 
 �������

� ��� �� ���	�� ��
���3 �����
�;

〈f |Ve−ph|I〉〈I|Ve−ph|i〉 =
αΩ

L2V q
eiqyd ×

×
∫ L

0

eiΔk1xeiqyδd1(x)dx

∫ L

0

eiΔk2xe−iqyδd2(x)dx, @(A

�$� $�� �	������ ���$�
� ���$���
� � �,
���

� Ω ≡ �e2e214/(2χ
2ρvs)3ρ, V w

����
���5 
 � H�� �	
������3 e14 w �5�,������	
����
� �����
-
�
� � �	
*

������ �� ��	����	�� -

����� � ��
�
 t!�u� J��	���5 ,���� vs 
 �����
*

-
�
� α ,��
�
� �� 
��	����

� 
����5�� ��
�
� 
 ��� ����	
,�-

 t!�u�

��



i�����	
� 
�>
� � 	�,-�� ������3 ��� �	����� ��
��� 
$�� �$��5 
��	��*

��

� ������� ����� t��4u � $����	
�� ��,� � C1DE3 ���$� ��
��
�� ����$

$��� ����	��
�� �����
����
� ��
�
� � α = 0.5 
 vs = 3 × 105��z�� B�*

�
�

� 
����	�
�������� �	�$��5
��� 
����5�� �	
 
������


 @j = 1A 


�������


 @j = 2A ��
�
� �$� 
� ,��
���5 � ������ ,���
� ���	�
�

� �
�	*

�

 Δkj = ε/�vF + (−1)jqx� B 
�>�� ��$��
 ������
�
�� >
	

� �	������

��
��� 	��
� w3 ��� �	
��$
� � ��	�

��

� 
� y*�����
�
�� 
����5�� ��*


�
� |qy| � 1/w� ?������ � ��	�%�


 @(A ��%
� �	
 �
%�

� 
��
���5

e−(−1)j iqyδdj(x) ≈ 1 − (−1)jiqyδdj(x)3 j = 1, 2� =��$� ��	�%�

� @.A $�� ���	
�*


��� �����
�� �	


���� �
$;

Vif =
αΩ

8π3L2

∫
eiqyddqxdqydqz
q(ε− εq + i0)

× @�A

×
[
q2
yI1I2 + i2πqyδ(qx + ε/�vF )I1 − i2πqyδ(qx − ε/�vF )I2

]
,

�$� δ(qx ± ε/�vF ) w $��5��*��
�-

3 εq = �vsq w �
�	�
� ��
�
�3 
 Ij =∫
eiΔkjxδdj(x)dx� J��$��� �����
�53 ��� ��	��� ��������� � ���� ��	�%�




������������� $���	��
��� 
�	�>�

� ,���
� ���	�
�

� 
����5�� * �	



������


 
 �	
 �������


 ��
�
�3 � $�� �����$

� ��������� � ���$*

	��
�� ��� ��� ������������� �	�-����� � �$
��	��
�� 
�	�>�

�� ,���*


� ���	�
�

� 
����5�� �
 � �	
 
������


3 �
 � �	
 �������


 ��
�*


�� ��� ��	���

� ��	�%�

� @�4A 
�%
� �,��5 

���	��� �
$� Intn(ε) =∫
(qy)

neiqyddqydqz/q/(ε − εq + i0) $�� n = 1, 2� ��� �$� ���� �	���$�� ,���*


� ��	���

�� dqydqz = q⊥dq⊥dϕ3 �$� q⊥ =
√
q2
y + q2

z y 
�	���5
�� � ��
 4}

�����
�
�� 
����5�� ��
�
�3 ϕ w ���� ��%$� q⊥ 
 ��5� 4v� ?	
 �����



vs 
 vF �����
����
� ��
�
� 
,�������� �	�
��������

� ��	��
$
����	*


� �	������ ��
���3 ������� ��%
� �	
 �
%�

� 
��
���5 q⊥ ≈ q� 9���
��

q → εq/(�vs)3 �����
�;

Intn(ε) ≈ (�s)−n−1

∫
sinn ϕdϕ

∫
εn

q e
iεqτ sinϕdεq

ε− εq + i0
, @�4A

�$� τ = d/vs w ��	����	
�� �	��� �	����� ��
�
� ��%$� ��
����
� ?	


���
���


 @�4A 

���	
	���

� �
����� �	���$
��� �� �
�	�

 ��
�
� �

�"



�	�$���� 0 < εq < �vs(w| sinϕ|)−13 � ���5�� ����� �� ���� ϕ�

<������	
� ������ $�������
�  ��5>��� 	������

� ��%$� ��
����
 d�
lvs/vF 3 ����	�� $�� ��	����	
�� ,
���

� ε ∼ ε0 $��� ε � �/τ � &��  �$��

����,�
� 

%�3 � ���� ������ �����	�
*��
�

�� ����

,� ����� �
 �����*

�
�5 ��
��	�
-
� ����
�������� 6�
��
�� ����$ � 

���	�� � ���� �	�$���

$��� ��
�
� � �,��� ������ �
�	�
� |εq − ε| � �/τ ;

Intn(ε) ≈ 2π2εn

(i�s)n+1

dn

dan

(
J0(a) + iH0(a)

)∣∣∣∣∣
a=ετ/�

, @��A

�$� J0, H0 w ��
�-

 F������ ��	���� 	�$� 
 J�	��� 
������� ��	�$��3 ��*

���������

�3 � �	�
,��$
�� �� ���
�

� � ��� ���  �	���� �	
 ���,�

��

,
���


 �	����
��� B �	�$��� a→ ∞ ��%
� ���5,����5�� ��
�����
����
�

��	�%�

�� J0(a) + iH0(a) ≈
√

2/πaei(a−π/4)�

B �	��
������%
�� ������ ����� 	������

� ε 
 �/τ 3 ����$ � 

���	��

$��� ��� ��
�
�3 
 ���������� �	
 �
%�

�� �����;

Int1 ≈ 2iπ(cos(d/w) − 1)

�sd

Int2 ≈ −2π sin(d/w)

�swd

��� $��� �����$

� ��������� � @�4A 

���	�� �� qx  �	���� �����  ����$�*

	� δ*��
�-

� 6$
���3 $�� ��	���� ���������� 
�� ��$
�� �
����� ��,����


� ���$	�� ��$��5 ���	
�
��� �����
��3 � ,���� �,��5 �����
�>
��� $���
��



���	�� �� qx, q
′
x� B ��
-�3 ��$� 
� ������ ����
������� 	�����

�3 ���$�*

�� �	�
,����
 ��	�$
�

� �� ������
�� 	���	�$���

�� δdj� B 	�,��5����3

�����
�;

|Vif |2 = V1 + V2,

V1 = 27/2

(
αΩ

8π3L2

)2

|Int1|2π5/2w2Lle−ε2/2ε2
0

@��A

V2 = 4

(
αΩ

8π3L2

)2

|Int2|2π5/2w4Lle−ε2/4ε2
0

�)



B ��
� ��	�%�

�� 

$��� � ������������� �$
��	��
��� 
�	�>�

� ,�*

��
� ���	�
�

� 
����5�� �	
 �,�
��$�����

 �����	�
�� � ��
�
��3 � �

w $���	��
���� 9����
�3 ��� ��	�%�

� @��A ��	���$�
�� 
 $�� ��	�$��


��
�
� 
, ���	��� ��
��� � ��	��� @ε < 0A3 ���
 ,���

�5 � ��	���� @��A

ε→ |ε|�
��� 

��	�	���-

 
�>
� 	�,��5����� �	�$�������� 

��	�� ������
�*


���5 $��� ����

,��� �,�
��$�����
�� 6-�
�� $�� C1DE �	
 ����� �
�	�
*

�� |ε| < εd, ε0 
z
�
 ����� 	������

�� ��%$� ��
����
 d � l ����,�����3 ���

���	
�
�� �����
� $�� � ��
� ��
�
��
 �	�
� 	�%
�� ��� �� �	��
�

�

� ����
����
� Pph/PC ≈ 10−5� ?	
 d >> l 
 $�������
�  ��5>
� �
�	�
��

|ε| > εd ��
�

�� ����$ ���
��
��� ,�����
3 ��� ��� � 	�,�� �� �
�	�

 �

����
������ ���	
�
�� �����
�� @!A 
�������� �	
 |ε| ∼ εd 
 ε03 ���� ,����
�

	�
5>�3 ��� � �����	�
*��
�

�� ���	
�
�� �����
�� @��A� B 	�,��5����3 �

������ �
�5
� 
�	��
����
��� ��	���� ��
��� 
 ��� � 
�	��
����
��� ���	���

���
���53 ��	�$������� ���	�$����� ����
������� 	�����

�3  ���	� ��$���

� 	������

�� ��%$� ��
����
 PC ∝ 1/d53 ���$� ��� ��
�

�� ����$ 
����

��
�����
�� Pph ∝ 1/d� ��� ��
�>�

� ���
����� 
����;

Pph

PC
=

e414vF

6π2ρ2s5

(
1 + 8

√
2
v2

F

s2

w2

l2

)
· d

4

l4

6����
�3 ��� � �
���� �
�����  ����$�	� �
�5
��� �	������ �����	
�������

���� ���$��� �%
$��5 w/l 
 1� S��
 �,��5 $�� �-�
�
 w/l = 0.13 �� ��
�

��

����$ ���
��
��� �	��

� � ����
����
� �	
 	������


 ��%$� ��
����


d/l ≈ 10� 6$
���3 � �
���-

3 	���
,����� � 
�>�� �����	
��
��3 ���� 	�%
�

�	���
����
 
�$���
%
��

=�� ��� � 
�>�� �����	
��
�� 	���
,����� ������ ������ 	������

� ��%*

$� �	�����
 ��
����
 d
 l3 	������	
�  ���� ��$	� 
� ��	
�� ����
������

	�����

�3 ���$� ��$�
���	��5
�� �
�%
���5 � ���$	��
�� ��� ��� � @!A

��%
� �	
	��
��5 �� ?����
�5 �
���

�� ����� $�� ��	�$������� ���
�*

��
 $�� �	�
,���5
�� ��
�-
� 	���	�$���

� �����	�
�� � ��	��� 
 ���	��

��
���� ��%
� 
, 	�>�

� @7A� B �	�$��5
�� ������ �
�5
� 
�	��
����
���

��	���� ��
��� 
 ��� � 
�	��
����
��� ���	��� ��
��� ����� ����� ��%
� ,�*

�!



�
���5 �
��
�
����
� #
���	�� �� �
�	�

 � @7A 
���� � 	�,�� �	
 |ε| ∼ ε0�

S��
 
�	��
����
���5 � ��	��� ��
��� 
���� ,����
�  ��5>
� ���>�� ��

�
�	�

3 �� ,��
�
����5� �� �
�	�

 ��%
� �	�
� 	��5; F1(ε) ≈ F1(0)� +�*

�	
��	3 $�� ���,
	��
����
��� 	���	�$���

� � ������
�
�� �����	���	��

��	�*�����	  �$�� 	���
 F1(0) = kBT1 @�$� kB w ������

�� F��5-��
�A�

��� $��������
����� ��
�-

 	���	�$���

�3 ��,$������� ���
����� ��
*

������ � �	
��%�

�� 
��	�%�

�� V 
 �����
-
�
��� �	���%$�

� Tr3

����	��3 ��� �	�$����������3 
���� ����� � 
�>�� �����	
��
���5
�� ,�$���;

F1(0) = Tr(1−Tr)e|V |� I����
� �
�5
�� 
�	��
����
���
 ������������� ����*

�
� kBT1, e|V | � ε0� B �� %� �	���3 �� ���	�� ��
��� �	
 

,��� �����	���	�

kBT2 
 ε0 ��%
� 
��
���5 F2(−ε) ≈ εθ(ε)3 �$� θ w ��
�-
� ���
���$� @����

�� ���	�� ��
��� 
���� ����� ���5�� �������

� �
�	�

A� B ���� �	�$���

	�>�

� @7A �	


���� �	����� �
$;

PC =
e4w2L

8π2�2vFχ2d2l2
F1(0)

6���$� ���$���3 
��	
��	3 ��� � �
�5
� 
�	��
����
�� ������ ���
���53

��	�$������� �	
 �����
 ��	
�� �	�-����� 	�����

� �

��
� ,��
�
� ��

��
����� 
��	�%�

� 
�
 ������
�
�� �����	���	� ��	����� ��
��� t!.u�

'�� ����	%$�

� ��	���$�
�� $�� � �
� ����

,��� �,�
��$�����
� 
 �	�*


,���5
��� 	������

� ��%$� ��
����
� B $	���� �	�$��5
�� ������ ��� ��


�	��
����
���
 � � �
� ��
���� @kBT2 
 kBT1, e|V | 
 ε0A 
���� PC ∝ T 4
1 , V

4�

=��
� � 	�,��3 
��	
��	3 $�� ��
�-
�
��5
�� ,��
�
����
 ���
���
 �� ��*


����� 
��	�%�

� 
�
 ������
�
�� �����	���	� ��	����� ��
��� ��	��*

��	
� ��	�%�

�� ���,
*��	������ ����$�

� � ��	���� kBT1, eV ∼ ε0�

6-�

� ���>�� ������� � $�������
� �
���� �
�����3 ��
��� ��� $� 
�*

���� �,�
��$�����
� �����	�
� �� ���	�� ��
��� 
���$
�
�5 �	
 ����� ���*

��	���	� T in
2 � ?���5 	������

� ��%$� ��
����
 d = 300
�3 vF = 107 ��z�3

��	����	�  ����	�$�� l = 1���3 w = 50
�3 � 
�	��
����
���5 � ��	��� ��
�*

�� ��,$����� ���
����� ��
������ � eV = 500���B 
 Tr = 1/2� '�
 �����
�3

��� �� ����	�3 ���
������ �� �����	
��
���5
��3 ��
��

�� ��>�3 
�  �
,*

�
 � 

�� '�����
�
�� �����	���	� ���	��� ��
��� 
� ����$� 
, � ����


�7



�,�
��$�����
� � �	�$��%�

�� ��$��
 	��
� t!.u;

T out
2 =

√
12�PC

πk2
B

+ (T in
2 )2.

?	
 $�

� �,�
��$�����
� L = 3���3 eV = 0.5��B� ε0 = 0.05��B 
 T in
2 =

50�&3 �����
� T out
2 ≈ 130�&� ?�����

�� ,
���

�  �
,�� � 
� ��$������

� �����	
��
�� 
3 ��,��%
�3 �%� 
� ��$����5 � 	� ��� t7(u�

�.



' (���)!�	
�

6�
��
�� 	�,��5���� $
���	��-
�

�� 	� ��� ������� � ���$�����;

• B 	�%
�� $	� 
��� ���
������ ������� ����� 
,��	�
� �����	���	
��

,��
�
����5 ������ �
�
������� ����
-
��� �	
 ��	���$� ��	�, �����*

	� ,����
�

� ν = 1/3, 2/3, 2/5, 3/5 
 � 
�	�%�
� 
�����

� �� �����*

	���	� � � ����
 ��5�	�

,�
� �����	���	� B 

,�������	���	
�� �	�*

$��� ������
� �

��
�� ,��
�
����5 ���
�

� ������ �
�����
-
���

�� ���

�
��� �����

• B �
�5
�� ���

�
�� ����� � 
�	�%�
� �����$�

� ���
�
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e
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∫ +∞

−∞
(fL − fR)Tr(E)dE, @�"A

�$� fL w ��
�-
� 	���	�$���

� ����� �� ���
������ ��
�����3 fR w ��
�-
�

	���	�$���

� ��	���3 Tr(E) w �����
-
�
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� ��	�, ����
-
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� Tr(E) � �
,
 E = EF ;

Tr(E) = Tr(EF ) +
∂Tr(E)

∂E

∣∣∣∣
E=EF

(E − EF ) +
∂2Tr(E)

∂E2

∣∣∣∣
E=EF

(E −EF )2

2
@�)A

��� �	������
 �	
���

∂Tr(E)

∂E

∣∣∣∣
E=EF

=
∂Tr

∂E
,
∂2Tr(E)

∂E2

∣∣∣∣
E=EF

=
∂2Tr

∂E2

�
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�����3 fL(E) → f ∗
L(E +

eV/2)3 fR(E) → f ∗
R(E − eV/2)� B �
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%�


 �� eV 3 �����
�;

f ∗
L(E + eV/2) = fL(E) +

∂fL(E)

∂E

eV

2
, f ∗

R(E − eV/2) = fR(E) − ∂fR(E)

∂E

eV

2
@�!A
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−∞

(
Tr(EF ) +

∂Tr

∂E
(E −EF ) +

∂2Tr

∂E2

(E − EF )2

2

)
×

×
(
fL − fR +

eV

2

(∂fL

∂E
+
∂fR

∂E

))
dE =

=
e

�
Tr(E)

∫ +∞

−∞
(fL − fR)dE +

e2V

�
Tr(EF )

∫ +∞

−∞

(
∂fL

∂E
+
∂fR

∂E

)
dE + @�7A

+
e

�

∂Tr

∂E

∫ +∞

∞
(fL − fR)(E − EF )dE +

e2V

�

∂Tr

∂E

∫ +∞

−∞

(
∂fL

∂E
+
∂fR

∂E

)
(E −EF )dE +

+
e

2�

∂2Tr

∂E2

∫ +∞

−∞
(fL − fR)(E − EF )2dE +

e2V

4�

∂2Tr

∂E2

∫ +∞

−∞

(
∂fL

∂E
+
∂fR

∂E

)
(E − EF )2dE
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fR = fL3 �	
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����
�� ��
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� 	���	�$���

� ��	��� �� ��
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������ L�
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� ∂fL

∂E
+ ∂fR

∂E
w ���
�� � ��	���
���
 E = EF 3 �������
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−∞

(
∂fL

∂E
+
∂fR

∂E

)
(E − EF )dE = 0 @�.A

J ������ @�.A 
 	���
��� fR = fL3
∂fR

∂E
= ∂fL

∂E
3 $�� �����	���	
�� ,��
�
*

����
 �� ��	���� @�7A �����
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∂I

∂V
=

∂

∂V

(
e2V

4�

∂2Tr

∂E2

∫ +∞

−∞

(
∂fL

∂E
+
∂fR

∂E

)
(E −EF )2dE

)
=

=
e2

2�

∂2Tr

∂E2
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−∞

∂f

∂E
(E − EF )2dE
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ΔGeq =
e2

2�

∂2Tr

∂E2
TΔT
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−∞

∂2f

∂E2
(E − EF )2dE
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 � 
��	�%�

�� � -��
 
����

�� fR 	= fL3 �	
���
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����
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�� J ������
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−∞ (fL − fR)(E − EF )dE = ΔEex w 
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���
�� �
�	�
�3
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−∞ (fL −fR)dE = Δn w 
,��
�

� �
��� ����
- @Δn = 0 $��
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∂Tr

∂E
ΔEex +

e2V
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∂2Tr
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∂fL

∂E
+
∂fR

∂E
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(E − EF )2dE
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∂V
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e

�

∂Tr

∂E
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(fL − fR)(E −EF )dE +

+
e
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∂2Tr

∂E2
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−∞
(fL − fR)(E −EF )2dE

)
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=
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∂2Tr

∂E2
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−∞
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∂fL

∂E
+
∂fR

∂E
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(E − EF )2dE.
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∂2Tr
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∂fL

∂E
+
∂fR

∂E
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(E −EF )2dE.
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TΔT
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∂2fR
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(E −EF )2dE.
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